
１００２ 

１０００ ２ 

１００３ 

１０００ ３ 

We read 101 as 100 

and 1. 

The numbers from 1002 increases by one. 

T19_S01 

１０００ 

１００１ 

１０００ １ 

We read 1001 as 1000 and 1. 

Let’s read 1000. 

thousand 

thousand 

thousand and one 

thousand one 

thousand two thousand three 

thousand  thousand two three 



T19_S01 

We read the numbers from 1001 to 1999 as 1000 and something. 

We know how to read the numbers from 1001 to 1999 if we know 

how to read from 0 to 999. 

１００１ 

１００９ 

１０１０ 

１０９９ 

１１００ 

１１９９ 

１２００ 

１３００ 

１５００ 

１９００ 

１９９９ 

thousand one 

thousand nine 

thousand ten 

thousand ninety nine 

thousand hundred 

thousand hundred ninety nine 

thousand two hundred 

thousand three hundred 

thousand five hundred 

thousand nine hundred 

thousand nine hundred ninety nine 



T19_S01 

We can show the number  by blocks like this. 

１ 

１ 10 

10 

10 

100 

100 

100 

100 

100 

1000 

１ 

１ 10 

10 

10 

100 

100 

100 

100 

100 

1000 

Let’s look at a new 

figure. What is the 

number on the right? 

The numbers of 1000, 

100, 10, 1 in each 

digit by “th”, “h”, “t”, 

“o”.  

Good! 

“o” means ● , “t” means × ,  “h” means ○ , “th” means     . 



T19_S01 

① 

③ 

⑤ 

th h t o 

１ 

１ 

１ 

１ 

１ 

100 

100 

100 

100 

100 

１ 

１ 

１ 

１ 

10 

10 

100 

100 

100 1000 

th h t o 

１ 

１ 

１ 

１ 

10 

10 

100 

100 1000 

th h t o 

１ 

１ 

１ 

１ 

１ 

１ 

１ 10 

10 1000 

② 

④ 

⑥ 

th h t o 

１ 

１ 

１ 

１ 

10 

10 

10 

10 

10 

100 

100 

100 1000 

th h t o 

100 

100 

100 

100 

100 

10 

10 

100 

100 1000 

th h t o 

１ 

１ 

１ 

１ 

１ 

１ 

１ 

１ 

1000 

th h t o 

１ 

１ 10 

10 

10 

100 

100 

100 

100 

100 

1000 

th h t o 

１ 

１ 10 

10 

10 

100 

100 

100 

100 

100 

1000 

Good! 

“o” means ● , “t” means × ,  “h” means ○ , “th” means     . 

Exercise  Write the answer in the          . 

Example Write the answer in the          . 



th h t o 

１ 

１ 

１ 

１ 

１ 

10 

10 

10 

10 

10 

100 

100 

100 

100 

100 

１ 

１ 

１ 

１ 

１ 

10 

10 

10 

10 

100 

100 

100 

100 

1000 

T19_S01 

The number of “o” becomes 10, 

so carry to the “t” . 

The number of “t” becomes 10, 

so carry to the “h” . 

 

Let’s  look at how to write a number which is one more than 199. 

The number of         at 
“o” increases by one. 

The number of “th” 
becomes 2. So number 
which one more than 1999 
is 2000. 

１  ９  ９  ９ 

th h t o 

１ 

１ 

１ 

１ 

１ 

10 

10 

10 

10 

10 

100 

100 

100 

100 

100 

１ 

１ 

１ 

１ 

１ 

10 

10 

10 

10 

100 

100 

100 

100 

1000 

th h t o 

1000 

1000 

th h t o 

10 

10 

10 

10 

10 

100 

100 

100 

100 

100 

10 

10 

10 

10 

10 

100 

100 

100 

100 

1000 

th h t o 

100 

100 

100 

100 

100 

100 

100 

100 

100 

100 

1000 

２ ０ ０ ０ 

１ 

“o” means ● , “t” means × ,  “h” means ○ , “th” means     . 

The number of “h” becomes 

10, so carry to the “th” . 



The number of “th” is up to 9. 

T19_S01 

th h t o 

1000 

１ ０ ０ ０ 

th h t o 

1000 

1000 

２ ０ ０ ０ 

th h t o 

1000 

1000 

1000 

３ ０ ０ ０ 

th h t o 

1000 

1000 

1000 

1000 

４ ０ ０ ０ 

th h t o 

1000 

1000 

1000 

1000 

1000 

５ ０ ０ ０ 

th h t o 

1000 

1000 

1000 

1000 

1000 

1000 

６ ０ ０ ０ 

th h t o 

1000 

1000 

1000 

1000 

1000 

1000 

1000 

７ ０ ０ ０ 

th h t o 

1000 

1000 

1000 

1000 

1000 

1000 

1000 

1000 

８ ０ ０ ０ 

th h t o 

1000 

1000 

1000 

1000 

1000 

1000 

1000 

1000 

1000 

９ ０ ０ ０ 

“o” means ● , “t” means × ,  “h” means ○ , “th” means     . 

Let’s  look at numbers  when the number of “th” increases by one. 



２００２ 

２０００ ２ 

２００３ 

２０００ ３ 

So, we can read 2000 

and 1. 

The numbers from 2002 increases by one. 

T19_S01 

２０００ 

２００１ 

２０００ １ 

We read 2001 as 2000 and 1. 

Let’s read 2000. 

two thousand 

two thousand one 

two thousand one 

two thousand two two thousand three 

two thousand  two thousand two three 

two thousand 



Let’s read the number from 1000 to 9000. 

T19_S01 

th h t o 

1000 

１ ０ ０ ０ 

th h t o 

1000 

1000 

２ ０ ０ ０ 

th h t o 

1000 

1000 

1000 

３ ０ ０ ０ 

th h t o 

1000 

1000 

1000 

1000 

４ ０ ０ ０ 

th h t o 

1000 

1000 

1000 

1000 

1000 

５ ０ ０ ０ 

th h t o 

1000 

1000 

1000 

1000 

1000 

1000 

６ ０ ０ ０ 

th h t o 

1000 

1000 

1000 

1000 

1000 

1000 

1000 

７ ０ ０ ０ 

th h t o 

1000 

1000 

1000 

1000 

1000 

1000 

1000 

1000 

８ ０ ０ ０ 

th h t o 

1000 

1000 

1000 

1000 

1000 

1000 

1000 

1000 

1000 

９ ０ ０ ０ 

“o” means ● , “t” means × ,  “h” means ○ , “th” means     . 

two thousand thousand three thousand 

five thousand four thousand six thousand 

eight thousand seven thousand nine thousand 



１ 

１００１ 

２００１ 

３００１ 

４００１ 

５００１ 

６００１ 

７００１ 

８００１ 

９００１ 

３００１ 

３０００ １ 

３００２ 

３０００ ２ 

The numbers 
from 1001 
and 2001 
also 
increased by 
one. 

The numbers from 3001 increases by one. 

T19_S01 

We read some thousand 

and one same as we read 

1001 like 1000 and 1 or 

9000 like 9000 and 1. 

Let’s  look at numbers  

which ends with 1 

from 9999. 

three thousand 

and one 

three thousand 

and two 

three thousand  one three thousand  two 

two  hundred one 

three  thousand  one 

four  thousand one 

five  thousand one 

six  thousand one 

seven  thousand one 

eight  thousand one 

nine thousand one 

     thousand one 

one 
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① ② 

③ ④ 

⑤ ⑥ 

th h t o 

１ 

１ 

１ 

１ 

１ 

１ 

１ 

１ 

10 

10 

10 

100 

100 

100 

1000 

1000 

1000 

1000 

th h t o 

10 

10 

10 

10 

10 

100 

100 

100 

100 

100 

１ 

１ 

１ 

10 

10 

10 

10 

100 

100 

1000 

1000 

1000 

1000 

1000 

1000 

1000 

1000 

th h t o 

10 

100 

100 

1000 

1000 

1000 

1000 

1000 

1000 

th h t o 

１ 

１ 

１ 

１ 

１ 

10 

10 

10 

10 

10 

100 

100 

100 

100 

100 

１ 

10 

10 

100 

100 

100 

100 

1000 

1000 

1000 

th h o 

１ 

１ 

１ 

１ 

１ 

10 

1000 

1000 

th h t o 

10 

10 

10 

10 

10 

100 

100 

100 

100 

100 

１ 

１ 

１ 

10 

100 

100 

100 

1000 

1000 

1000 

1000 

1000 

1000 

1000 

1000 

1000 

th h t o 

１ 

１ 10 

10 

10 

100 

100 

100 

100 

100 

1000 

th h t o 

１ 

１ 10 

10 

10 

100 

100 

100 

100 

100 

1000 

t 

“o” means ● , “t” means × ,  “h” means ○ , “th” means     . 

Good! 

Exercise  Write the answer in the          . 

Example Write the answer in the          . 
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⑦ ⑧ 

⑨ ⑩ 

⑪ ⑫ 

⑬ ⑭ 

⑮ 

th h t o 

１ 

１ 100 

100 

100 

1000 

1000 

1000 

1000 

1000 

1000 

1000 

th h t o 

10 

10 

10 

10 

10 

１ 

１ 

10 

1000 

1000 

1000 

th h t o 

10 

10 

10 

10 

10 

１ 

１ 

１ 

10 

100 

100 

100 

100 

100 

1000 

1000 

th h t o 

10 

10 

10 

10 

10 

100 

100 

100 

100 

100 

１ 

10 

10 

10 

100 

100 

100 

100 

1000 

1000 

1000 

1000 

1000 

1000 

1000 

1000 

th h t o 

１ 

100 

100 

100 

1000 

1000 

1000 

1000 

1000 

th h t o 

10 

10 

10 

10 

10 

１ 

１ 10 

10 

10 

100 

100 

100 

1000 

1000 

1000 

1000 

1000 

1000 

th h t o 

１ 

１ 10 

10 

1000 

1000 

1000 

1000 

1000 

1000 

1000 

1000 

1000 

th h t o 

10 

10 

10 

10 

10 

100 

100 

100 

100 

100 

１ 

１ 

10 

100 

100 

1000 

1000 

1000 

1000 

th h t o 

１ 

１ 

１ 

１ 

１ 

１ 

１ 

１ 

1000 

1000 

1000 

1000 

1000 

1000 

1000 

1000 

th h t o 

１ 

１ 

１ 

１ 

１ 

10 

10 

10 

10 

10 

100 

100 

100 

100 

100 

１ 

10 

10 

10 

100 

100 

1000 

1000 

1000 

1000 

1000 

1000 

1000 

1000 

1000 

⑯ 

Exercise  Write the answer in the          . 



 

 

３００１ 

３０１０ 

３０２０ 

３０３０ 

３４００ 

３５４２ 

５７６８ 

７２８９ 

８３７９ 

９２６３ 

T19_S01 

１０００ 

１００１ Good! 

Exercise  Write how to read the numbers in          . 

Example  Write how to read the numbers in          . 

thousand  

thousand  one 



 

 

 

 

 

 

 

 

 

 

 

５２００ 

６００７ 

７２４６ 

５８３３ 

３７５４ 

８６６５ 

２１６６ 

４０９７ 

７５５３ 

９５１５ 

９９８７ 

T19_S01 

Exercise  Write how to read the numbers in          . 



T19_S02 

The number 
on the open 
side is greater. 

We use “=“ when two numbers are equal.  

５８０     ５８０ 

１０＋２０    ３０ 

＝ 

＝ 

348 is greater 
than 295 and 
188 is less than 
514. 

Let’s write ＞ or ＜ to show which is greater. 

３４８     ２９５ 

１８８     ５１４ 

３４８     ２９５ 

１８８     ５１４ 

＞ 

＜ 

We use “=“ in addition 
and subtraction. 

“10 + 20” and “30” are equal. 

Good! 
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３４００       ２５００ ３４００       ２５００ ＞ 

① ② ３０００     ５０００ ８０００     ７０００ 

③ ④ １９８０     ２０１５ ８０９５     ７９８６ 

⑤ ⑥ ４５６０     ３８７２  ９８７     １００１ 

⑦ ⑧ ２５６０     ５２３０ ６０１０     ５９８０ 

⑨ ⑩ ２７９８     ２７９８ ６９７６     ７７９６ 

⑪ ⑫ ５５６０     ５１９０ ３３２３     ２３３４ 

⑬ ⑭ ９８７２     ８９７６ １９９９     ２００１ 

１８９０       １８９０ １８９０       １８９０ ＝ 

Example  Write the sign of ＞,  ＜ or  =  in the          . 

Exercise  Write the sign of ＞ , ＜ or = in the          . Good! 



0 1000 2000 3000 6000 4000 7000 5000 8000 9000 

0 1000 2000 3000 6000 4000 7000 5000 8000 9000 

0 1000 2000 3000 4000 5000 

5000 6000 7000 8000 9000 4000 

0 1000 2000 3000 4000 5000 

5000 6000 7000 8000 9000 4000 

T19_S02 

② 

③ 

④ 

⑤ 

1 units means                               . ① 

Good! 

Example  Fill in the missing number.  

Exercise  Fill in the missing number.  



⑦ 

⑧ 

⑨ 

⑩ 

T19_S02 

⑪ 

2300 2400 

8000 8100 

5200 5300 

6050 6150 

4350 4450 

5700 5800 5750 

2350 

8050 

6100 

4400 

⑥ 

Exercise  Fill in the missing number.  

1 units means                               . 



2800 2900 2850 

8800 8900 

4200 4300 4250 

7600 7700 

0 1000 2000 3000 4000 5000 

T19_S02 

① 

② 

③ 

④ 

３７００ 

７６５０ 

４２３５ 

８８３７ 

２８３０ 

8850 

Good! 

Exercise  Tick in the         which indicates the number.  

Example  Tick in the         which indicates the number.  



5000 6000 7000 8000 9000 4000 

0 1000 2000 3000 6000 4000 7000 5000 8000 9000 

0 1000 2000 3000 6000 4000 7000 5000 8000 9000 

0 1000 2000 3000 4000 5000 

T19_S02 

①  

② 

③  

④  

⑤  

is 1000 more than 5400. 

2800 2900 

7600 
7700 

Good! 

Example  Write the answer in the          . If you don’t know the answer, 
                      think it using number line. 

Exercise  Fill in the missing number.  

is 3000 more than 3600. 

is 400 more than 4700. 

is 600 more than 6500. 

is 30 more than 2800. 

is 70 more than 7600. 



5000 6000 7000 8000 9000 4000 

0 1000 2000 3000 6000 4000 7000 5000 8000 9000 

0 1000 2000 3000 4000 5000 

0 1000 2000 3000 6000 10000 4000 7000 5000 8000 9000 

T19_S02 

①  

②  

③  

Good! 

Example  Write the answer in the          . If you don’t know the answer, 
                      think it using number line. 

Exercise  Fill in the missing number.  

④  

⑤  

3100 3200 

6700 
6800 

is 1000 less than 5400. 

is 4000 less than 6200. 

is 500 less than 2300. 

is 400 less than 7100. 

is 30 less than 3200. 

is 70 less than 6800. 



0 1000 2000 3000 6000 4000 7000 5000 8000 9000 

5000 6000 7000 8000 9000 4000 

0 1000 2000 3000 4000 5000 

0 1000 2000 3000 6000 10000 4000 7000 5000 8000 9000 

T19_S02 

① 6500 is                                   more than 3500.  

② 2300 is                                   more than 1800.  

③ 7200 is                                   more than 6400.  

④ 7000 is                                   more than 6980.  

⑤ 4650 is                                   more than 4620.  

6900 7000 

4600 4700 

Good! 

Example  Write the answer in the          . If you don’t know the answer, 
                      think it using number line. 

Exercise  Fill in the missing number.  

5000 is                                   more than 4000.  



0 1000 2000 3000 6000 4000 7000 5000 8000 9000 

5000 6000 7000 8000 9000 4000 

0 1000 2000 3000 4000 5000 

0 1000 2000 3000 6000 10000 4000 7000 5000 8000 9000 

T19_S02 

① 3500 is                                   less than 8500.  

② 2800 is                                   less than 3500.  

③ 5200 is                                   less than 6100.  

④ 8910 is                                   less than 8980.  

⑤ 3720 is                                   less than 3750.  

5000 is                                   less than 4000.  

8900 9000 

3700 3800 

Good! 

Example  Write the answer in the          . If you don’t know the answer, 
                      think it using number line. 

Exercise  Fill in the missing number.  



T19_S02 

⑤ 

① 

③ 

⑥ 

⑦ 

⑧ 

② 

④ 

The number which is made of 38  100    is                                     . 

Good! Example  Fill in the missing number.  

Exercise  Fill in the missing number.  

The number which is made of 62  100    is                                     . 

The number which is made of 77  100    is                                     . 

The number which is made of 51  100    is                                     . 

The number which is made of 49  100    is                                     . 

The number which is made of 50  100    is                                     . 

The number which is made of 63  100    is                                     . 

The number which is made of 99  100    is                                     . 

The number which is made of 23  100    is                                     . 



The number which is made of 2  1000   , 1   100  , 3   10   and  5    1    is                 

         

 

           . 

T19_S02 

① 

② 

③ 

④ 

⑤ 

Good! 

Example  Fill in the missing number.  

Exercise  Fill in the missing number.  

The number which is made of 5  1000   , 7   100  , 3   10   and  4    1    is                 

         

                       . 

The number which is made of 3  1000   , 1   100  , 5   10   and  0    1    is                 

         

                        . 

The number which is made of 2  1000   , 2   100  , 7   10   and  1    1    is                 

         

                       . 

The number which is made of 7  1000   , 0   100  , 6   10   and  3    1    is                 

         

                       . 

The number which is made of 8  1000   , 0   100  , 0   10   and  2    1    is                 

         

                       . 



T19_S02 

① 

② 

③ 

④ 

⑥ 

⑧ 

⑤ 

⑦ 

Good! Example  Fill in the missing number.  

Exercise  Fill in the missing number.  

The number which is made of                       100   is 1800. 

The number which is made of                                   100   is 1800.   

The number which is made of                                   100   is 4100.   

The number which is made of                                   100   is 7500.   

The number which is made of                                   100   is 6600.   

The number which is made of                                   100   is 8000.   

The number which is made of                                   100   is 3900.   

The number which is made of                                   100   is 8200.   

The number which is made of                                   100   is 9900.   



The numbers which is made of                   1000   ,                  100  ,                      

 

      10   and                   1    is 2851.  

The numbers which is made of                   1000   ,                  100  ,                      

 

      10   and                   1    is 8647.  

The numbers which is made of                   1000   ,                  100  ,                      

 

      10   and                   1    is 3579.  

The numbers which is made of                   1000   ,                  100  ,                      

 

      10   and                   1    is 7193.  

T19_S02 

The numbers which is made of                   1000   ,                  100  ,                      

 

      10   and                   1    is 3654.  

① 

② 

④ 

③ 

Good! 

Example  Fill in the missing number.  

Exercise  Fill in the missing number.  



The numbers which is made of                   1000   ,                  100  ,                      

 

      10   and                   1    is 3654.  

The numbers which is made of                   1000   ,                  100  ,                      

 

      10   and                   1    is 8647.  

The numbers which is made of                   1000   ,                  100  ,                      

 

      10   and                   1    is 3654.  

The numbers which is made of                   1000   ,                  100  ,                      

 

      10   and                   1    is 3654.  

The numbers which is made of                   1000   ,                  100  ,                      

 

      10   and                   1    is 3654.  

T19_S02 

⑤ 

⑥ 

⑦ 

⑧ 

⑧ 

Exercise  Fill in the missing number.  



T19_S03 

① ② 300＋800＝ 400＋900＝ 

300＋900＝ 

③ ④ 500＋500＝ 600＋800＝ 

⑤ ⑥ 500＋900＝ 800＋400＝ 

⑦ ⑧ 900＋200＝ 900＋700＝ 

⑨ ⑩ 700＋800＝ 700＋500＝ 

Example  Write the answer in the          .  

Exercise  Write the answer in the          .  

Good! There are  3 + 9 sets of 100. 

There are 3 + 8 sets of 100 There are 4 + 9 sets of 100 

There are 5 + 5 sets of 100 There are 6 + 8 sets of 100 

There are 5 + 9 sets of 100 There are 8 + 4 sets of 100 

There are 9 + 2 sets of 100 There are 9 + 7 sets of 100 

There are 7 + 8 sets of 100 There are 7 + 5 sets of 100 



① ② 

③ ④ 

⑤ ⑥ 

⑦ ⑧ 

⑨ ⑩ 

⑪ ⑫ 

⑬ ⑭ 

⑮ ⑯ 

T19_S03 

200＋900＝ 

900＋800＝ 

100＋900＝ 

400＋800＝ 

600＋600＝ 

700＋700＝ 

800＋700＝ 

600＋700＝ 

700＋300＝ 

500＋800＝ 

900＋500＝ 

900＋600＝ 

700＋900＝ 

800＋300＝ 

800＋800＝ 

900＋400＝ 

300＋900＝ 

Example  Write the answer in the          .  

Exercise  Write the answer in the          .  

Good! 
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① ② 1200－600＝ 1500－700＝ 

1500－800＝ 

③ ④ 1800－900＝ 1700－800＝ 

⑤ ⑥ 1600－700＝ 1100－400＝ 

⑦ ⑧ 1400－600＝ 1300－500＝ 

⑨ ⑩ 1200－700＝ 1300－600＝ 

Example  Write the answer in the          .  

Exercise  Write the answer in the          .  

Good! There are  15 - 8 sets of 100. 

There are 12 - 6 sets of 100 There are 15 – 7 sets of 100 

There are 18 – 9 sets of 100 There are 17 – 8 sets of 100 

There are 16 – 7 sets of 100 There are 11 – 4 sets of 100 

There are 14 – 6 sets of 100 There are 13 – 5 sets of 100 

There are 12 – 7 sets of 100 There are 13 – 6 sets of 100 



1500－800＝ 

① ② 

③ ④ 

⑤ ⑥ 

⑦ ⑧ 

⑨ ⑩ 

⑪ ⑫ 

⑬ ⑭ 

⑮ ⑯ 

T19_S03 

1500－800＝ 

1700－900＝ 

1200－700＝ 

1200－500＝ 

1300－400＝ 

1400－600＝ 

1300－800＝ 

1400－900＝ 

1300－700＝ 

1800－900＝ 

1700－900＝ 

1100－600＝ 

1600－800＝ 

1600－700＝ 

1400－600＝ 

1200－400＝ 

Example  Write the answer in the          .  

Exercise  Write the answer in the          .  

Good! 
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３ １ ８ 

＋ ２ ４ ６ 

３１８＋２４６ 
Solve. First, calculate addition at the ‘’o’’. 

h      t       o     h           t          o 

8+6=14. 10 

move to the 

‘’t’’’. Only 4 

remain at the 

‘’o’’. １ 

１ 

１ 

１ 

１ 

１ 

１ 

１ 

10 

100 

100 

100 

１ １ 

１ 

１ 

１ 

１ 

10 

10 

10 

10 

100 

100 

３ １ ８ 

＋ ２ ４ ６ 

３１８＋２４６ 
h      t        o    h            t          o 

１ 

１ 

１ 

１ 

１ 

１ 

１ 

１ 

10 

100 

100 

100 

１ １ 

１ 

１ 

１ 

１ 

10 

10 

10 

10 

100 

100 

Calculate the number at the ‘’t’’ and ‘’h’’. 

10 １ 

１ 

１ 

１ 

10 

10 

10 

10 

10 

100 

100 

100 

100 

100 

10 

1+1+4 at 

the ‘’t’’, 

3+2=5 at 

the ‘’h’’. So 

the answer 

is 564.  

“o” means ● , “t” means × ,  “h” means ○ . 



３ １ ８ 
＋ ２ ４ ６ 

T20_S01 

３ １ ８ 
＋ ２ ４ ６ 

３１８＋２４６ 

８＋６＝ １ ４ 

We write 1 of 14 at 

the top of ‘’t’’ and 4 

of 14 at the ‘’o’’.  

Let’s calculate by vertical method. 

３１８＋２４６ 

Let’s calculate at the ‘’h’’ and ‘’t’’. 

We calculate 2+3 at 

the ‘’h’’. 

h      t        o 

h      t        o 

１＋１＋４＝ ６ 

３＋２＝ ５ 

“o” means ● , “t” means × ,  “h” means ○ . 

Good! 



５ １ ９ 
＋ ２ ５ ３ 

１ ２ ７ 
＋ ４ ３ ６ 

４ ５ ３ 
＋ ３ ４ ２ 

２ ４ ３ 
＋ ６ １ ５ 

５ ２ ６ 
＋ ３ ２ ４ 

Example  Solve. 

Exercise   Solve.  
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３１８＋２４６ 

３  １  ８ 
＋ ２  ４  ６ 

３１８＋２４６ 

３  １  ８ 
＋ ２  ４  ６ 

① ５１９＋２５３ ② １２７＋４３６ ③ ４５３＋３４２ ④ ２４３＋６１５ 

⑤ ５２６＋３２４ ⑥ ２５７＋３１４ ⑦ １２９＋６３０ ⑧ ３０８＋６５１ 

２ ５ ７ 
＋ ３ １ ４ 

１ ２ ９ 
＋ ６ ３ ０ 

３ ０ ８ 
＋ ６ ５１ 

Good! 



４ ６ ５ 
＋ ４ ０ ７ 

３ ５ ３ 
＋ ２ ３ ７ 

３ ７ ２ 
＋ ４ １ ５ 

６ ５ １ 
＋ ３ ２ ３ 

５ ３ １ 
＋ ２ ６ ５ 

５ ５ ３ 
＋ １ ３ ８ 

３ ３ ６ 
＋ ４ ４ ５ 

１ ６ ６ 
＋ ５ １ ３ 

６ ２ ７ 
＋ ３ ３ ６ 

４ ６ ９ 
＋ ５ ２ ４ 

２ ２ ７ 
＋ ６ ２ ６ 

３ ０ ３ 
＋ ４ １ ８ 

Example  Solve. 
T20_S01 

⑨ ３７２＋４１５ ⑩ １６６＋５１３ ⑪ ６５１＋３２３ ⑫ ５３１＋２６５ 

⑬ ４６５＋４０７ ⑭ ５５３＋１３８ ⑮ ６２７＋３３６ ⑯ ４６９＋５２４ 

⑰ ２２７＋６２６ ⑱ ３０３＋４１８ ⑲ ３５３＋２３７ ⑳ ３３６＋４４５ 



Example  Solve. Make sure to write “+”. 

T20_S01 

３１８＋２４６ 

        
＋    

Exercise   Solve. Make sure to write “+”. 

３１８＋２４６ 

        
＋    

① ② ③ 

④ ⑤ ⑥ 

５１７＋３６４ ４７８＋２１６ ２０４＋６３８ 

３４０＋５２９ ２３２＋４６４ ３０４＋５０３ 

h    t       o h    t      o 

h       t           o h       t           o h       t           o 

h       t           o h       t           o h       t           o 

“o” means ● , “t” means × ,  “h” means ○ . 

Good! 

Do NOT 
forget!! 



 ｃ      ｄ          ｕ 

Exercise    Solve. Make sure to write “+”. 
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⑩ ⑪ ⑫ 

⑬ ⑭ ⑮ 

⑦ ⑧ ⑨ ３１６＋４４２ ６８４＋１１５ ６１５＋１８２ 

３１４＋２３６ ３８９＋４０８ １２３＋７４９ 

２２８＋５３６ ３７９＋３１８ ３５８＋４２５ 

h       t           o h       t           o h       t           o 

h       t           o h       t           o 

h       t           o h       t           o h       t           o 



Example  Solve. Make sure to write “+” and the horizontal line. 

T20_S01 

Exercise   Solve. Make sure to write “+” and the horizontal line. 

        
＋    

① ② ③ 

④ ⑤ ⑥ 

１２５＋７６７ １３３＋６２９ ４５８＋４２３ 

１２７＋７６５ ５３４＋１２８ ５２６＋３２５ 

h    t       o h    t      o 

Do NOT 
forget!! 

３１８＋２４６ ３１８＋２４６ 

h       t           o h       t           o h       t           o 

h       t           o h       t           o h       t           o 

“o” means ● , “t” means × ,  “h” means ○ . 

Good! 



Exercise   Solve. Make sure to write “+” and the horizontal line. 
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４２７＋４３２ ５１６＋１４２ ２０６＋４０２ 

４２１＋５０９ ２３８＋６５３ ２４７＋５３７ 

３２６＋３５４ ２２５＋３２７ ５６７＋１２６ 

⑩ ⑪ ⑫ 

⑬ ⑭ ⑮ 

⑦ ⑧ ⑨ 

h       t           o h       t           o h       t           o 

h       t           o h       t           o h       t           o 

h       t           o h       t           o h       t           o 



４ ６ ２ 
＋ １ ８ ３ 
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４ ６ ２ 
＋ １ ８ ３ 

４６２＋１８３ 

２＋３＝ ５ 

We write 1 of 14 at 

the top of ‘’h’’ and 4 

of 14 at the answer 

place of ‘’t’’.  

Solve. 

４６２＋１８３ 

Let’s calculate at the ‘’h’’ and ‘’t’’.  

h      t        o 

h      t        o 

６＋８＝１ ４ 
１＋４＋１＝６ 

We calculate from the 

‘’o’’ even the number 

is bigger. 

“o” means ● , “t” means × ,  “h” means ○ . 

Good! 



１ ６ ２ 
＋ ５ ９ ７ 

４ ３ ７ 
＋ ２ ８ １ 

３ ６ １ 
＋ ２ ６ ４ 

６ ９ ３ 
＋ １ ２ ４ 

５ ７ ７ 
＋ ２ ４ ６ 

Example   Solve.  
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４６２＋１８３ 

４  ６  ２ 
＋ １  ８  ３ 

４６２＋１８３ 

４  ６  ２ 
＋ １  ８  ３ 

① １６２＋５９７ ② ４３７＋２８１ ③ ３６１＋２６４ ④ ６９３＋１２４ 

⑤ ５７７＋２４６ ⑥ ２５８＋６９８ ⑦ １３４＋７８ ⑧ ４７５＋６８ 

２ ５ ８ 
＋ ６ ９ ８ 

１ ３ ４ 
＋    ７ ８ 

４ ７ ５ 
＋    ６ ８ 

Exercise  Solve.  

Good! 



４ ６ １ 
＋ ３ ７ ９ 

３ ５ ３ 
＋     ７ ９ 

３ ７ ２ 
＋ １ ８ ５ 

４ ５ １ 
＋ ２ ７ ３ 

３ ８ １ 
＋ ２ ６ ５ 

３ ５ ６ 
＋ １ ８ ６ 

５ ３ ４ 
＋    ８ ７ 

１ ６ ６ 
＋ ３ ５ １ 

２ ６ ７ 
＋ ５ ５ ５ 

５ ４ ８ 
＋ ２ ９ ５ 

２ ７ ２ 
＋   ６ ２ 

３ ６ ０ 
＋    ４ ８ 

Exercise  Solve.  
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⑨ ３７２＋１８５ ⑩ １６６＋３５１ ⑪ ４５１＋２７３ ⑫ ３８１＋２６５ 

⑬ ４６１＋３７９ ⑭ ３５６＋１８６ ⑮ ２６７＋５５５ ⑯ ５４８＋２９５ 

⑰ ２７２＋６２ ⑱ ３６０＋４８ ⑲ ３５３＋７９ ⑳ ５３４＋８７ 



Example  Solve. Make sure to write “＋” and the horizontal line. 
 

T20_S02 

        
＋    

Exercise  Solve. Make sure to write “＋” and the horizontal line. 

        
＋    

① ② ③ 

④ ⑤ ⑥ 

１５７＋３６２ ７７３＋１５６ ５５４＋２８９ 

４８４＋３２９ ２７２＋６４ ３７７＋５３ 

h    t      o h    t      o 

Do NOT 
forget!! 

４６２＋１８３ ４６２＋１８３ 

h       t           o h       t           o h       t           o 

h       t           o h       t           o h       t           o 

“o” means ● , “t” means × ,  “h” means ○ . 

Good! 



Exercise  Solve. Make sure to write “＋” and the horizontal line. 

T20_S02 

⑩ ⑪ ⑫ 

⑬ ⑭ ⑮ 

⑦ ⑧ ⑨ ６７４＋２４２ ７８４＋１５１ ６５３＋１９２ 

５６８＋２６３ ３８９＋４３８ ３３３＋４７９ 

２８０＋５７ ３７９＋６６ ３５８＋７５ 

h       t           o h       t           o h       t           o 

h       t           o h       t           o h       t           o 

h       t           o h       t           o h       t           o 



Example   Solve. Make sure to write “＋” and the horizontal line. 

T20_S02 

Exercise  Solve. Make sure to write “＋” and the horizontal line. 

        
＋    

① ② ③ 

④ ⑤ ⑥ 

１５５＋７６２ ３８５＋２２０ ３５８＋３７５ 

１９７＋７６５ ５３４＋７１ ８９６＋３５ 

h    t      o h    t      o 

Do NOT 
forget!! 

４６２＋１８３ ４６２＋１８３ 

h       t           o h       t           o 

h       t           o h       t           o h       t           o 

h       t           o 

“o” means ● , “t” means × ,  “h” means ○ . 

Good! 



Exercise  Solve. Make sure to write “＋” and the horizontal line. 
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４２７＋４８１ ５７９＋１４０ ２３６＋４８２ 

４２１＋１９９ ２８８＋６５３ ２７７＋５３７ 

３８６＋５４ ２５２＋７９ ５６７＋８８ 

⑩ ⑪ ⑫ 

⑬ ⑭ ⑮ 

⑦ ⑧ ⑨ 

h       t           o h       t           o h       t           o 

h       t           o h       t           o h       t           o 

h       t           o h       t           o h       t           o 



２ ３ ８ 
＋ ２ ６ ５ 
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２ ３ ８ 
＋ ２ ６ ５ 

２３８＋２６５ 

８＋５＝ １ ３ 

We write 1 of 13 at the 

top of ‘’t’’ and 3 of 13 

at the answer place of 

‘’o’’.  

Solve.  

２３８＋２６５ 

Let’s calculate at the ‘’h’’ and ‘’t’’.  There is 10 at the 

‘’t’’, so move it to 

the ‘’h’’’. 

h      t        o 

h      t        o 

１＋３＋６＝ １ ０ 

１＋２＋２＝５ 

Become calculation of 3 

numbers at the ‘’h’’. 

“o” means ● , “t” means × ,  “h” means ○. 

Good! 



３ ７ ９ 
＋ ３ ２ ４ 

２ ６ ９ 
＋ ５ ３ ５ 

４ ５ ５ 
＋ １ ４ ７ 

３ ２ ５ 
＋ ４ ７ ６ 

５ ４ ６ 
＋ ２ ５ ７ 

Example     Solve.  

Exercise  Solve.  
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２３８＋２６５ 

２  ３  ８ 
＋ ２  ６  ５ 

２３８＋２６５ 

２  ３  ８ 
＋ ２  ６  ５ 

① ３７９＋３２４ ② ２６９＋５３５ ③ ４５５＋１４７ ④ ３２５＋４７６ 

⑤ ５４６＋２５７ ⑥ ４８３＋１８ ⑦ ５３６＋６５ ⑧ ２９５＋５ 

４ ８ ３ 
＋    １ ８ 

５ ３ ６ 
＋    ６ ５ 

２ ９ ５ 
＋      ５ 

Good! 



２ ５ ３ 
＋ ３ ４ ９ 

３ ５ ３ 
＋     ４ ９ 

４ １ ２ 
＋ １ ８ ９ 

４ ２ ８ 
＋ ２ ７ ３ 

３ ３ ５ 
＋ ２ ６ ５ 

３ ６ ５ 
＋ １ ３ ８ 

５ ９ ４ 
＋      ７ 

１ ４ ６ 
＋ ３ ５ ４ 

２ ８ ７ 
＋ ２ １ ５ 

４ ０ ８ 
＋ ２ ９ ５ 

２ ７ ２ 
＋   ２ ９ 

３ ６ ４ 
＋    ３ ８ 

Exercise  Solve.  
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⑨ ４１２＋１８９ ⑩ １４６＋３５４ ⑪ ４２８＋２７３ ⑫ ３３５＋２６５ 

⑬ ２５３＋３４９ ⑭ ３６５＋１３８ ⑮ ２８７＋２１５ ⑯ ４０８＋２９５ 

⑰ ２７２＋２９ ⑱ ３６４＋３８ ⑲ ３５３＋４９ ⑳ ５９４＋７ 



Example   Solve. Make sure to write “+”. 

T20_S03 

        
＋    

Exercise  Solve. Make sure to write “+”. 

        
＋    

① ② ③ 

④ ⑤ ⑥ 

１３７＋３６４ ６４３＋１５８ ２１４＋２８９ 

２８４＋１９ ２３２＋６９ ３９５＋８ 

h    t      o h    t      o 

Do NOT 
forget!! 

２３８＋２６５ ２３８＋２６５ 

h       t           o h       t           o h       t           o 

h       t           o h       t           o h       t           o 

“o” means ● , “t” means × ,  “h” means ○ . 

Good! 



Exercise  Solve. Make sure to write “+”. 
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⑩ ⑪ ⑫ 

⑬ ⑭ ⑮ 

⑦ ⑧ ⑨ ６７４＋２２８ ７８４＋１１９ ６０７＋１９７ 

５３８＋２６３ ３９３＋４０９ ３５３＋４９ 

２４８＋５７ ３７９＋２６ ５９４＋８ 

h       t           o h       t           o 

h       t           o h       t           o h       t           o 

h       t           o h       t           o h       t           o 

h       t           o 



Example   Solve. Make sure to write “+” and the horizontal line. 

T20_S03 

Exercise  Solve. Make sure to write “+” and the horizontal line. 

        
＋    

① ② ③ 

④ ⑤ ⑥ 

１５５＋３４８ ３８５＋２１６ ２２８＋４７５ 

１３７＋６５ ５２７＋７５ ８９６＋５ 

h    t       o h    t      o 

Do NOT 
forget!! 

２３８＋２６５ ２３８＋２６５ 

h       t           o h       t           o h       t           o 

h       t           o h       t           o h       t           o 

“o” means ● , “t” means × ,  “h” means ○ . 

Good! 



Exercise  Solve. Make sure to write “+” and the horizontal line. 
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２１７＋３８８ ４７９＋１２３ ２３６＋４６９ 

４０１＋１９９ ２４８＋６５３ ２６７＋５３７ 

３８６＋１４ ２２２＋７９ ５９７＋８ 

⑩ ⑪ ⑫ 

⑬ ⑭ ⑮ 

⑦ ⑧ ⑨ 

h       t           o h       t           o h       t           o 

h       t           o h       t           o h       t           o 

h       t           o h       t           o h       t           o 



T20_S04 

８ ３ ５ 
＋ ４ ２ ３ 

８３５＋４２３ 

５＋３＝ ８ 

We write 1 of 12 at the 

answer place of ‘’th’’ and 

2 of 12 at the answer 

place of ‘’h’’ 

Solve. 

８３５＋４２３ 

Calculate the number at the ‘’h’’. 

th        h         t         o 

３＋２＝ ５ 

８ ３ ５ 
＋ ４ ２ ３ 

８＋４＝１ ２ 

We calculate in order:  

first, at the ‘’o’’ and 

second at  the ‘’t’’. 

th        h         t         o 

“o” means ● , “t” means × ,  “h” means ○, ‘’th’’ means □. 

Good! 



５ ２ ４ 

＋ ６ ６ ５ 

３ ５ ７ 

＋ ９ ２ １ 

７ ６ ３ 

＋ ４ １ ４ 

６ ４ ５ 

＋ ８ ３ ２ 

６ ４ ６ 

＋ ６ ３ ６ 

Example   Solve.  

Exercise   Solve.. 
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８３５＋４２３ 

８  ３  ５ 
＋ ４  ２  ３ 

８３５＋４２３ 

８  ３  ５ 
＋ ４  ２  ３ 

① ５２４＋６６５ ② ３５７＋９２１ ③ ７６３＋４１４ ④ ６４５＋８３２ 

⑤ ６４６＋６３６ ⑥ ８２８＋３６７ ⑦ ４８２＋６６７ ⑧ ９８１＋７５５ 

８ ２ ８ 

＋ ３ ６ ７ 

４ ８ ２ 

＋ ６ ６ ７ 

９ ８ １ 

＋ ７ ５ ５ 

Good! 



８ ６ １ 

＋ ３ ７ ９ 

３ ８ ８ 

＋ ７ ３ ５ 

３ ０ ２ 

＋ ９ ８ ５ 

４ ５ ９ 

＋ ８ ４ ３ 

３ ６ １ 

＋ ９ ６ ５ 

５ ５ ６ 

＋ ５ ８ ６ 

５ ３ ４ 

＋ ６ ８ ７ 

６ ６ ６ 

＋ ７ ２ １ 

２ ６ ７ 

＋ ９ ５ ５ 

５ ４ ８ 

＋ ８ ９ ５ 

７ ８ ５ 

＋ ６ ６ ７ 

３ ６ ５ 

＋ ９ ５ ８ 

Exercise   Solve. 

T20_S04 

⑨ ３０２＋９８５ ⑩ ６６６＋７２１ ⑪ ４５９＋８４３ ⑫ ３６１＋９６５ 

⑬ ８６１＋３７９ ⑭ ５５６＋５８６ ⑮ ２６７＋９５５ ⑯ ５４８＋８９５ 

⑰ ７８５＋６６７ ⑱ ３６５＋９５８ ⑲ ３８８＋７３５ ⑳ ５３４＋６８７ 



Example   Solve. Make sure to write “+”. 

T20_S04 

        
＋    

Exercise   Solve. Make sure to write “+”. 

        
＋    

① ② ③ 

④ ⑤ ⑥ 

２２５ ＋ ９３３ ６４１ ＋ ７２６ ８５４ ＋ ４１５ 

５３６ ＋ ７５３ ５２７ ＋ ６５１ ４６４ ＋ ８２２ 

Do NOT 
forget!! 

８３５＋４２３ ８３５＋４２３ 
th     h        t        o th     h        t        o 

th      h        t        o th      h        t        o th      h        t        o 

th      h        t        o th      h        t        o th      h        t        o 

“o” means ● , “t” means × ,  “h” means ○, ‘’th’’ means □. 

Good! 



Exercise   Solve. Make sure to write “+”. 
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⑦ ⑧ ⑨ 

⑩ ⑪ ⑫ ２５３＋９６４ ５９３＋７２２ ４８５＋７３１ 

    

       

    

       

    

       

⑬ ⑭ ⑮ ３６１＋８５９ ２７８＋９３５ ７８５＋６４７ 

４６３＋９１９ ７２４＋７３８ ６３７＋４５５ 
th      h        t        o th      h        t        o 

th      h        t        o th      h        t        o 

th      h        t        o 

th      h        t        o 

th      h        t        o 

th      h        t        o th      h        t        o 



Example   Solve. Make sure to write “+” and the horizontal line. 

T20_S04 

Exercise   Solve. Make sure to write “+” and the horizontal line. 

        
＋    Do NOT 

forget!! 

８３５＋４２３ ８３５＋４２３ 

① ② ③ 

④ ⑤ ⑥ 

３１５ ＋ ７６３ ８４１ ＋ ４５２ ６４５ ＋ ６１３ 

７１２ ＋ ６４２ ３１６ ＋ ９７２ ５４７ ＋ ７５２ 

th      h        t        o th      h        t        o th      h        t        o 

th      h        t        o th      h        t        o th      h        t        o 

          h        t        o           h        t        o 

“o” means ● , “t” means × ,  “h” means ○, ‘’th’’ means □. 

Good! 



Exercise   Solve. Make sure to write “+” and the horizontal line. 
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⑦ ⑧ ⑨ 

⑩ ⑪ ⑫ 

⑬ ⑭ ⑮ 

４６３＋７６２ ２８３＋８２２ ５７０＋７５８ 

７３９＋４７３ ８６３＋９４８ ６８７＋６３５ 

２５２＋９２８ ３２２＋８１９ ５２６＋６５８ 
th      h        t        o th      h        t        o th      h        t        o 

th      h        t        o th      h        t        o th      h        t        o 

th      h        t        o th      h        t        o th      h        t        o 



３ ２ ５ ４ 
＋ ４ ３ ６ ８ 

T20_S05 

３２５４＋４３６８ 

Do not forget to 

plus 1 which we 

put at the top 

of ‘’h’’ and ‘’t’’. 

Solve. 

３２５４＋４３６８ 

Calculate the number at the ‘’h’’.  

We calculate in 

order: first, at the 

‘’o’’ and second at  

the ‘’t’’ even the 

number will be  

bigger. 

３ ２ ５ ４ 
＋ ４ ３ ６ ８ 

４＋８＝ １ ２ 

１＋５＋６＝ １ ２ 

１＋２＋３＝ ６  

３＋４＝７ 

th       h         t         o 

th       h          t        o 

“o” means ● , “t” means × ,  “h” means ○, ‘’th’’ means □. 

Good! 



Example   Solve.  

Exercise   Solve. 
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３２５４＋４３６８ 

     ３ ２ ５ ４ 
     ４ ３ ６ ８ ＋ 

３２５４＋４３６８ 

     ３ ２ ５ ４ 
     ４ ３ ６ ８ ＋ 

① ２７２４＋３１５８ 

     ２ ７ ２ ４ 
     ３ １ ５ ８ ＋ 

② ５３５７＋２１３５ 

  ５ ３ ５ ７  
     ２ １ ３ ５ ＋ 

③ １２６３＋４１５４ 

     １ ２ ６ ３ 
     ４ １ ５ ４ ＋ 

④ ５０９５＋１８３２ 

     ５ ０ ９ ５ 
     １ ８ ３ ２ ＋ 

⑤ ２６４３＋１６３６ 

     ２ ６ ４ ３ 
     １ ６ ３ ６ ＋ 

⑥ ５８２８＋３３４１ 

     ５ ８ ２ ８ 
     ３ ３ ４ １ ＋ 

Good! 



Exercise   Solve.. 
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⑦ １４８２＋４４６９ 

     １ ４ ８ ２ 
     ４ ４ ６ ９ ＋ 

⑧ ３１８７＋５７５５ 

     ３ １ ８ ７ 
     ５ ７ ５ ５ ＋ 

⑨ ６９３２＋１１８５ 

     ６ ９ ３ ２ 
     １ １ ８ ５ ＋ 

⑩ ２６６６＋３７５１ 

     ２ ６ ６ ６ 
     ３ ７ ５ １ ＋ 

⑪ ２４７９＋５８４３ 

     ２ ４ ７ ９ 
     ５ ８ ４ ３ ＋ 

⑫ ５２６８＋１９６５ 

     ５ ２ ６ ８ 
     １ ９ ６ ５ ＋ 

⑬ ５８６１＋２１７５ 

     ５ ８ ６ １ 
     ２ １ ７ ５ ＋ 

⑭ ６５５３＋１４８２ 

     ６ ５ ５ ３ 
     １ ４ ８ ２ ＋ 

⑮ ７２６７＋１７５５ 

     ７ ２ ６ ７ 
     １ ７ ５ ５ ＋ 

⑯ ５１４８＋３８９５ 

     ５ １ ４ ８ 
     ３ ８ ９ ５ ＋ 

⑰ ２７８５＋４２１７ 

     ２ ７ ８ ５ 
     ４ ２ １ ７ ＋ 

⑱ １３６４＋６６３８ 

     １ ３ ６ ４ 
     ６ ６ ３ ８ ＋ 



Example   Solve. Make sure to write “+”. 

T20_S05 

Exercise   Solve. Make sure to write “+”. 

① ② ③ 

④ ⑤ ⑥ 

３１２５＋２３３９ ５１４６＋１７２６ １６５４＋６１７５ 

４３６２＋２５５３ ２５２７＋５６５１ ２４６４＋４８２２ 

３２５４＋４３６８ ３２５４＋４３６８ 

＋ ＋ 
Do NOT 
forget!! 

th    h     t     o th    h     t     o 

th    h     t     o th    h     t    o th   h     t     o 

th   h     t     o th   h     t     o th   h     t     o 

“o” means ● , “t” means × ,  “h” means ○, ‘’th’’ means □. 

Good! 



Exercise   Solve. Make sure to write “+”. 
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⑦ ⑧ ⑨ ６４６３＋２１９９ １２７４＋７４７６ ５６７３＋３５４５ 

⑩ ⑪ ⑫ ２２５３＋２９６４ ３５９３＋３７２８ ４４８５＋３７３６ 

⑬ ⑭ ⑮ ３１３６＋５８９２ ２０８７＋６９３１ １７８５＋４２１９ 

th   h     t     o th   h     t     o th   h     t     o 

th   h     t     o th   h     t     o th   h     t     o 

th   h     t     o th   h     t     o th   h     t     o 



Example   Solve. Make sure to write “+” and the horizontal line. 

T20_S05 

Exercise   Solve. Make sure to write “+” and the horizontal line. 

Do NOT 
forget!! 

① ② ③ 

④ ⑤ ⑥ 

１３１５＋３３７６ ５４１８＋３１４５ １４６５＋６１６３ 

２１７２＋５４６２ ２３１６＋２９７２ ４５４７＋１７５１ 

３２５４＋４３６８ ３２５４＋４３６８ 

＋ 

th   h     t     o 

th   h     t     o th   h     t     o 

th   h     t     o th   h     t     o 

th   h     t     o th   h     t     o th   h     t     o 

“o” means ● , “t” means × ,  “h” means ○, ‘’th’’ means □. 

Good! 



Exercise   Solve. Make sure to write “+” and the horizontal line. 
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⑦ ⑧ ⑨ ６７５２＋１９８２ ５３２２＋２９８１ ３５２６＋１７９８ 

⑩ ⑪ ⑫ １４６３＋４７６８ ２２８３＋３７３５ ２５７０＋５４９８ 

⑬ ⑭ ⑮ ４７３９＋４２７３ ７８６３＋１１８８ ３６８７＋３３１５ 

th   h     t     o th   h     t     o th   h     t     o 

th   h     t     o th   h     t     o th   h     t     o 

th   h     t     o th   h     t     o th   h     t     o 



T20_S06 

３６＋５９＋４８ 

３ ６ 
５ ９ 
４ ８ 

   h t o 

＋ 

３６ 
５９ 
４８ 

   h t o 

＋ 

３６＋５９＋４８ 

６＋９＋８＝２ ３ 
２＋３＋５＋４＝１ ４ 

Let’s solve this question. We can calculate by vertical addition 

even if the numbers are three. 

Though, we have three 

numbers, we can start 

calculating from the “o”. 

Do not forget to calculate the carrying from the “o” to the “t”. 

The number we 

carry from the 

“o” is 2. We 

have to add 

four numbers 

at the “t”. 

“o” means ● , “t” means × ,  “h” means ○, ‘’th’’ means □. 

Good! 



T20_S06 

２５４＋７８＋３４９ 

 Solve. 

２ ５ ４ 
 ７ ８ 
３ ４ ９ ＋ 

２ ５ ４ 
 ７ ８ 
３ ４ ９ ＋ 

Do not forget to calculate the number which moved from t at the ‘’h’’. 

２５４＋７８＋３４９ 

１＋２＋３＝ ６ 

４＋８＋９＝２ １ 

78 do not have anything 

at the ‘’h’’, so write it at 

the ‘’h’’ and ‘’t’’. 

1 is the number 

which move 

from the ‘’t’’. 

So we add the 

three numbers 

at the ‘’h’’ 

２＋５＋７＋４＝ １ ８ 

   h t o 

   h t o 

“o” means ● , “t” means × ,  “h” means ○, ‘’th’’ means □. 

Good! 



Example   Solve.  

Exercise   Solve. 
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３６＋５９＋４８ ３６＋５９＋４８ 

３ ６ 
５ ９ 
４ ８ ＋ 

② ４８＋９５＋２１ 

４ ８ 
９ ５ 
２ １ ＋ 

③ ６９＋２７＋１６ 

６ ９ 
２ ７ 
１ ６ ＋ 

３ ６ 
５ ９ 
４ ８ ＋ 

① ２３＋７８＋２５ 

２ ３ 
７ ８ 
２ ５ ＋ 

⑥ ５４＋１３８＋７４９ 

 ５ ４ 
１ ３ ８ 
７ ４ ９ ＋ 

⑤ ５７４＋１４７＋９５ 

５ ７ ４ 
１ ４ ７ 
 ９ ５ ＋ 

④ ７５＋６２３＋５４ 

 ７ ５ 
６ ２ ３ 
 ５ ４ ＋ 

Good! 



⑨ ２７８＋３１＋１５４ 

２ ７ ８ 
 ３ １ 
１ ５ ４ ＋ 

Exercise   Solve. 
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⑧ ５８＋４３＋２８ 

５ ８ 
４ ３ 
２ ８ ＋ 

⑦ ９６＋４５＋３２ 

９ ６ 
４ ５ 
３ ２ ＋ 

⑫ ７８５＋５４６＋２９８ 

７ ８ ５ 
５ ４ ６ 
２ ９ ８ ＋ 

⑪ ５１４＋３２９＋１７８ 

５ １ ４ 
３ ２ ９ 
１ ７ ８ ＋ 

⑩ ７６３＋１８９＋７６ 

７ ６ ３ 
１ ８ ９ 
 ７ ６ ＋ 

⑮ １３５＋８２９＋３６４ 

１ ３ ５ 
８ ２ ９ 
３ ６ ４ ＋ 

⑭ ３２６＋８９９＋６５６ 

３ ２ ６ 
８ ９ ９ 
６ ５ ６ ＋ 

⑬ ３７１＋４３７＋６９３ 

３ ７ １ 
４ ３ ７ 
６ ９ ３ ＋ 



T20_S06 

３６＋５９＋４８ ３６＋５９＋４８ 

＋ 

② ６７＋５４＋３８ ③ ８５＋７７＋５９ 

＋ 

① ７３＋２８＋４１ 

⑥ ２２６＋４０９＋１９５ ⑤ ２５３＋１６８＋３８５ ④ ２６１＋１８４＋４５７ 

Example   Solve. Make sure to write “+”. 

Exercise   Solve. Make sure to write “+”. 

Good! Do NOT 
forget!! 



⑨ ３４６＋５６＋１２９ 

T20_S06 

⑧ ８７＋５５＋４９ ⑦ ９６＋３９＋２８ 

⑫ ３４８＋２７６＋１５８ ⑪ ５３７＋２５＋５８４ ⑩ ８５４＋９３＋３６８ 

⑮ ５４６＋４３９＋１９６ ⑭ ９６２＋５８６＋７３９ ⑬ ８２５＋１４９＋１７８ 

Exercise   Solve. Make sure to write “+”. 



We can’t subtract 

4 from 2, so 

borrow 10 from 

the ‘’t’’.  

T20_S07 

３６２－２１４ 

Let’s calculate at the ‘’h’’. 

Solve. 

３６２－２１４ 

１２－４＝ ８ 

The calculation at 

the ’’t’’ is 3-2. 

５－１＝ ４ 

３ ６ ２ 
－  ２ １ ４ 

３ ６ ２ 
－  ２ １ ４ 

The calculation at 

the ’’t’’ is 5-1. 

３－２＝ １ 

   h t o 

   h t o 

“o” means ● , “t” means × ,  “h” means ○, ‘’th’’ means □. 

Good! 



２５１ 
１２７ 

Example   Solve.  
                   Cross out the number when it changes. 

Exercise  Solve.  
                  Cross out the number when it changes. 
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３６２－２１４ ３６２－２１４ 

① ② ③ ④ 

⑤ ⑥ ⑦ ⑧ 

３  ６  ２ 
－ ２  １  ４ 

Do NOT 
forget!! 

３  ６  ２ 
－ ２  １  ４ 

８６９－１３４ ６４９－３２６ ５２８－３１６ ４９５－３２２ 

７７３－４５８ ２５１－１２７ ４８６－１２９ ８２６－７１９ 

８６９ 
１３４ － 

６４９ 
３２６ － 

５２８ 
３１６ － 

４９５ 
３２２ － 

７７３ 
４５８ － － 

４８６ 
１２９ － 

８２６ 
７１９ － 

Good! 



Exercise  Solve. 
                   Cross out the number when it changes. 
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⑨ ⑩ ⑪ ⑫ 

⑬ ⑭ ⑮ ⑯ 

⑰ ⑱ ⑲ ⑳ 

９８５－６７０ ３６４－２３２ 

８１３－７０２ ８７１－６２０ ７６３－３２４ 

７５８－５２４ ６７５－４２１ 

５６４－１４７ ３８７－１５９ 

５６０－２３５ 

４７２－２３８ ６９７－２３９ 

６７５ 
４２１ － 

９８５ 
６７０ － 

３６４ 
２３２ － 

７５８ 
５２４ － 

８１３ 
７０２ － 

８７１ 
６２０ － 

７６３ 
３２４ － 

５６０ 
２３５ － 

４７２ 
２３８ － 

６９７ 
２３９ － 

５６４ 
１４７ － 

３８７ 
１５９ － 



Example   Solve. Make sure to write “－”. 
                   Cross out the number when it changes. 
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Exercise  Solve. Make sure to write “－”. 
                   Cross out the number when it changes. 

① ② ③ 

④ ⑤ ⑥ 

４７６－２５３ ８４７－５０２ ６８７－３２１ 

７４１－３２８ ５９１－２６３ ９８６－７４８ 

  

－           
 

－           Do NOT 
forget!! 

３６２－２１４ ３６２－２１４ 

Do NOT 
forget!! 

   h t o    h t o    h t o 

   h t o    h t o    h t o 

“o” means ● , “t” means × ,  “h” means ○, ‘’th’’ means □. 



Exercise  Solve. Make sure to write “－”. 
                   Cross out the number when it changes. 
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⑩ ⑪ ⑫ 

⑬ ⑭ ⑮ 

⑦ ⑧ ⑨ ７３２－５１１ ８５２－３３０ ５７９－２４３ 

５４９－３０６ ４８２－１５０ ２９５－１３７ 

６８５－４３６ ４１７－１０８ ８７２－５３６ 

   h t o    h t o    h t o 

   h t o    h t o 

   h t o    h t o    h t o 

   h t o 



Example   Solve. Make sure to write “－” and the horizontal line. 
                   Cross out the number when it changes. 
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Exercise  Solve. Make sure to write “－” and the horizontal line. 
                   Cross out the number when it changes. 

① ② ③ 

④ ⑤ ⑥ 

６２７－５１４ ６７８－４１４ ３６８－１４３ 

４５３－２１６ ７７０－７２６ ５６１－１２７ 

Do NOT 
forget!! 

 
－           

３６２－２１４ ３６２－２１４ 

Do NOT 
forget!! 

   h t o    h t o    h t o 

   h t o    h t o    h t o 

“o” means ● , “t” means × ,  “h” means ○, ‘’th’’ means □. 



Exercise  Solve. Make sure to write “－” and the horizontal line. 
                   Cross out the number when it changes. 

T20_S07 

４３６－１２３ ８５４－２４１ ３５８－２３７ 

２７５－１０４ ５６７－３４０ ７２３－４１８ 

６３４－４１８ ９７１－５２８ ６２４－３０７ 

⑩ ⑪ ⑫ 

⑬ ⑭ ⑮ 

⑦ ⑧ ⑨ 

   h t o    h t o    h t o 

   h t o    h t o    h t o 

   h t o    h t o    h t o 



Firstly, we calculate 

at the ‘’o’’. 

T20_S08 

５２６－３７４ 

We can’t subtract at the ’’t’’, so calculate by borrowing 100 from the ‘’h’’. Do not 

forget the line to cross out the number because the number at the ‘’h’’ and ‘’t’’.  

The number at 

‘the ’t’’ is 12 – 7 = 5 

５ ２ ６ 
－  ３ ７ ４ 

５２６－３７４ 

６－４＝ ２ 

５ ２ ６ 
－  ３ ７ ４ 

Solve. 

４－３＝ １ 

１２－７＝ ５ 

The number 

at the ‘’h’’ is 

4 – 3 = 1. 

   h t o 

   h t o 

“o” means ● , “t” means × ,  “h” means ○, ‘’th’’ means □. 



Example   Solve. 
                   Cross out the number when it changes. 

Exercise  Solve.  
                   Cross out the number when it changes. 
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５２６－３７４ ５２６－３７４ 

① ② ③ ④ 

⑤ ⑥ ⑦ ⑧ 

５  ２  ６ 
－ ３  ７  ４ 

５  ２  ６ 
－ ３  ７  ４ 

     ８ ３ ５ 
     ５ ６ ４ － 

     ９ ７ ４ 
     ６ ８ ４ － 

     ５ ７ ５ 
     ２ ８ ３ － 

     ６ ４ ７ 
     ３ ６ ５ － 

     ７ ２ ４ 
     ２ ３ ４ － 

     ９ ５ ４ 
     ４ ６ ３ － 

     ４ ２ ７ 
     ３ ７ ３ － 

     ２ ２ ８ 
     １ ５ ７ － 

Do NOT 
forget!! 

４２７－３７３ ２２８－１５７ 

８３５－５６４ ９７４－６８４ ５７５－２８３ ６４７－３６５ 

７２４－２３４ ９５４－４６３ 

Good! 



⑭ ⑮ ８７２－６７８ ７５３－３５８ 

Exercise  Solve. 
                   Cross out the number when it changes. 
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⑨ ⑩ ⑪ ⑫ 

⑬ ⑯ 

⑰ ⑱ ⑲ ⑳ 

８１７－４８０ ７０６－２３ 

５１６－２４７ 

３１２－１６８ ５０８－２３５ 

４２０－１５８ ３４５－２６８ 

８３２－２６５ 

６４５－８８ ６１０－４８３ 

     ５ ０ ８ 
     ２ ３ ５ － 

     ８ １ ７ 
     ４ ８ ０ － 

     ７ ０ ６ 
      ２ ３ － 

     ３ １ ２ 
     １ ６ ８ － 

     ５ １ ６ 
     ２ ４ ７ － 

     ８ ７ ２ 
     ６ ７ ８ － 

     ７ ５ ３ 
     ３ ５ ８ － 

     ８ ３ ２ 
     ２ ６ ５ － 

     ６ ４ ５ 
      ８ ８ － 

     ６ １ ０ 
     ４ ８ ３ － 

     ４ ２ ０ 
     １ ５ ８ － 

     ３ ４ ５ 
     ２ ６ ８ － 



Example   Solve. Make sure to write “－”. 
                   Cross out the number when it changes. 

T20_S08 

Exercise  Solve. Make sure to write “－”. 
                   Cross out the number when it changes. 

① ② ③ 

④ ⑤ ⑥ 

６７４－２９３ ９２５－６５２ ６４８－４６２ 

８３６－５７５ ７１８－５４２ ６８９－３９７ 

  

－           
 

－           Do NOT 
forget!! 

５２６－３７４ ５２６－３７４ 

Do NOT 
forget!! 

   h t o    h t o    h t o 

   h t o    h t o    h t o 

“o” means ● , “t” means × ,  “h” means ○, ‘’th’’ means □. 

Good! 



Exercise  Solve. Make sure to write “－”. 
                   Cross out the number when it changes. 
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⑩ ⑪ ⑫ 

⑬ ⑭ ⑮ 

⑦ ⑧ ⑨ ８２１－４４０ ５０７－３６３ ６０２－７０ 

４０９－２６ ５７１－３９２ ９５３－５８４ 

８３１－２９４ ８４０－３７２ ５４０－２７４ 

   h t o 

   h t o    h t o    h t o 

   h t o 

   h t o    h t o    h t o 

   h t o 



Example   Solve. Make sure to write “－” and the horizontal line. 
                   Cross out the number when it changes. 

T20_S08 

Exercise  Solve. Make sure to write “－” and the horizontal line. 
                   Cross out the number when it changes. 

① ② ③ 

④ ⑤ ⑥ 

８２７－４６５ ５７２－３９１ ９５７－５８４ 

６５７－３６２ ３８８－１９５ ５６３－２８２ 

Do NOT 
forget!! 

 
－           

５２６－３７４ ５２６－３７４ 

Do NOT 
forget!! 

   h t o    h t o    h t o 

   h t o    h t o    h t o 

“o” means ● , “t” means × ,  “h” means ○, ‘’th’’ means □. 



Exercise  Solve. Make sure to write “－” and the horizontal line. 
                   Cross out the number when it changes. 
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５１２－２６０ ７０３－３６１ ５２５－８２ 

４０７－７５ ４５３－１７９ ８６２－４８５ 

７６２－５７８ ７２０－２７１ ５３０－２６４ 

⑩ ⑪ ⑫ 

⑬ ⑭ ⑮ 

⑦ ⑧ ⑨ 

   h t o    h t o    h t o 

   h t o    h t o    h t o 

   h t o    h t o    h t o 



１ ０ ０ ０ 
 ３ ６ ８ － 

We can’t subtract 8 from 0, so want 

to borrow 10 from the ‘’t’’, but  the 

‘’t’’ is  0 and also the ‘’h’’ is 0. 

T20_S09 

１０００－３６８ １０００－３６８ 

Then in this calculation, we borrow 

from the ‘’ th’’  in order. Frist, 

borrow from the ’th’’ to the ‘’h’’. 

Solve. 

１ ０ ０ ０ 
 ３ ６ ８ － 

１ ０ ０ ０ 
 ３ ６ ８ － 

１０００－３６８ １０００－３６８ 

１ ０ ０ ０ 
 ３ ６ ８ － 

Since we borrow from the ’’h’’ to 

the ‘’t’’, we cross out 10 at the 

‘’h’’ and write 9 at the top of ‘’h’’. 

Finally, as we borrow from the ‘’t’’ to 

the  ‘’o’’, we cross out 10 and write 9. 

We write 10 at the top of ‘’o’’. 

th       h         t         o th       h         t         o 

th       h         t         o th       h         t         o 

“o” means ● , “t” means × ,  “h” means ○, ‘’th’’ means □. 



１ ０ ０ ０ 
 ３ ６ ８ － 

T20_S09 

１０００－３６８ 

Let’s subtract in order from the ‘’o’’ . 

１０００－３６８ 

Let’s calculate at the ‘’t’’, ‘’h’’ and ‘’th’’. 

１０－８＝ ２ 

９－６＝ ３  

９－３＝６ 

At the ‘’o’’ , we subtract 

8 from 10 which 

borrowed in order from 

the ‘’h’’. 

The number at the 

‘’th’’ is 0.  

So 1000 – 360 = 632 

１ ０ ０ ０ 
 ３ ６ ８ － 

th       h         t         o 

th       h         t         o 

Good! 

“o” means ● , “t” means × ,  “h” means ○, ‘’th’’ means □. 



Example   Solve. Cross out the number when it changes. 

Exercise  Solve. Cross out the number when it changes. 
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１０００－３６８ 

１ ０ ０ ０ 
 ３ ６ ８ － 

１０００－３６８ 

１ ０ ０ ０ 
 ３ ６ ８ － 

① 

     １ ０ ００ 
  ３ ４ ７ － 

② 

  １００３ 
  ４ ９ ７ － 

③ 

     １ ２ ０ ０ 
      ５ ６ ５ － 

④ 

     １ ０ ０ ５ 
      ９ ７ ８ － 

⑤ 

     １ ０ ０ ０ 
        ８１ － 

⑥ 

  １ ０ ０ ０ 
        ４４ － 

Do NOT 
forget!! 

１０００－３４７ １００３－４９７ １２００－５６５ 

１００５－９７８ １０００－８１ １０００－４４ 

Good! 



７０ ８ 
４０ ９ － － － 

９０ ０ 
３０ ５ 

５０ ６ 
 ３ ７ 

６０ ２ 
 ９ ８ － － － 

２０ １ 
  ５ 

４ ０ ３ 
  ７ 

Exercise  Solve. Cross out the number when it changes. 
T20_S09 

⑦ ⑧ ⑨ 

⑩ ⑪ ⑫ 

⑬ ⑭ ⑮ 

４０３－１５６ ６０４－２３７ ８０３－６５５ 

７０８－４０９ ９００－３０５ ５０６－３７ 

６０２－９８ ２０１－５ ４０３－７ 

４０ ３ 
１５ ６ － － － 

６０ ４ 
２３ ７ 

８０ ３
６５ ５ 



Example   Solve. Cross out the number when it changes. 

T20_S09 

Exercise  Solve. Cross out the number when it changes. 

① ② ③ 

④ ⑤ ⑥ 

１０００－５１４ １００５－２８７ １４００－６６６ 

１００２－９２５ １０００－３８ １０００－２９ 

１０００－３６８ １０００－３６８ 

－ － Do NOT 
forget!! 

th   h     t     o th   h     t     o 

th   h     t     o th   h     t     o th   h     t     o 

th   h     t     o th   h     t     o th   h     t     o 

Good! 

“o” means ● , “t” means × ,  “h” means ○, ‘’th’’ means □. 



Exercise  Solve. Cross out the number when it changes. 
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⑦ ⑧ ⑨ ６０２－３７６ ３０２－１７８ ４０１－２４４ 

⑩ ⑪ ⑫ ３０５－１０８ ６００－２０３ ３０８－５９ 

⑬ ⑭ ⑮ ７０２－６７ ３０４－７ ４０３－８ 

th   h     t     o th   h     t     o th   h     t     o 

th   h     t     o th   h     t     o 

th   h     t     o 

th   h     t     o 

th   h     t     o th   h     t     o 



Example   Solve. Cross out the number when it changes. 

T20_S09 

Exercise  Solve. Cross out the number when it changes. 

Do NOT 
forget!! 

１０００－３６８ １０００－３６８ 

① ② ③ 

④ ⑤ ⑥ 

－ 

１０００－９３５ １００７－７３９ １５００－５２３ 

１００３－２８ １０００－７３ １０００－５５ 

th   h     t     o th   h     t     o th   h     t     o 

th   h     t     o th   h     t     o 

th   h     t     o th   h     t     o 

th   h     t     o 

Good! 

“o” means ● , “t” means × ,  “h” means ○, ‘’th’’ means □. 



Exercise  Solve. Cross out the number when it changes. 
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⑦ ⑧ ⑨ 

⑩ ⑪ ⑫ 

⑬ ⑭ ⑮ 

７０４－５９７ ９０８－７２９ ５０５－３２７ 

６０３－３０５ ３００－１０９ ４０５－４８ 

８０７－５８ ６０５－９ ７０２－６ 

th   h     t     o th   h     t     o th   h     t     o 

th   h     t     o th   h     t     o th   h     t     o 

th   h     t     o th   h     t     o th   h     t     o 



１ ２ ６ ７ 
 ５ １ ６ － 
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１２６７－５１６ 

Solve. 

１２６７－５１６ 

Let’s calculate at the ‘’t’’, ‘’h’’ and ‘’th’’. 

７－６＝ １ 

６－１＝ ５  

１２－５＝ ７ 

Calculate in order 

from the ‘’o’’.  

The number at the 

‘’th’’ is 0.  

So 1267 – 516 = 751 

１ ２ ６ ７ 
 ５ １ ６ － 

th       h         t         o 

th       h         t         o 

“o” means ● , “t” means × ,  “h” means ○, ‘’th’’ means □. 

Good! 



Example   Solve. Cross out the number when it changes. 

Exercise    Solve. Cross out the number when it changes. 
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１２６７－５１６ 

１ ２ ６ ７ 
 ５ １ ６ － 

１２６７－５１６ 

１ ２ ６ ７ 
 ５ １ ６ － 

① 

１６４５ 
 ８ ２ ２ － 

② 

１１７８ 
 ６ ５ ３ － 

③ 

１ ３ ８ ４ 
 ５ １ ２ － 

④ 

１ ２ ４ ２ 
 ５ ３ ６ － 

⑤ 

１４２７ 
 ７ ８ ３ － 

⑥ 

１ ５ ４９ 
 ９ ６ ０ － 

Do NOT 
forget!! 

１６４５－８２２ １１７８－６５３ １３８４－５１２ 

１２４２－５３６ １４２７－７８３ １５４９－９６０ 

Good! 



Exercise  Solve. Cross out the number when it changes. 
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⑦ 

１４２７ 
 ７ ８ ９ － 

⑧ 

１６５４ 
 ８ ７ ６ － 

⑨ 

１３２３ 
 ６ ５ ５ － 

⑩ 

２１３８ 
 ５ ７ ３ － 

⑪ 

２６４３ 
 ８ ５ １ － 

⑫ 

２５２８ 
 ６ ８ ４ － 

⑬ 

２３２２ 
 ６ ７ ５ － 

⑭ 

２２１４ 
 ６ ３ ６ － 

⑮ 

２４３５ 
 ８ ６ ８ － 

１４２７－７８９ １６５４－８７６ １３２３－６５５ 

２１３８－５７３ ２６４３－８５１ ２５２８－６８４ 

２３２２－６７５ ２２１４－６３６ ２４３５－８６８ 



Example   Solve. Cross out the number when it changes. 

T20_S10 

Exercise  Solve. Cross out the number when it changes. 

① ② ③ 

④ ⑤ ⑥ 

１１８４－７２１ １６８８－８８４ １２５６－５３２ 

１３２５－４１８ １１６８－３９２ １５２７－６５４ 

１２６７－５１６ １２６７－５１６ 

－ － Do NOT 
forget!! 

th    h     t     o th    h     t     o 

th    h     t     o th    h     t     o th    h     t     o 

th    h     t     o th    h     t     o th    h     t    o 

“o” means ● , “t” means × ,  “h” means ○, ‘’th’’ means □. 

Good! 



Exercise  Solve. Cross out the number when it changes. 
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⑦ ⑧ ⑨ １２４６－３５８ １３５２－７７６ １４３５－８４７ 

⑩ ⑪ ⑫ ２３１５－６８４ ２２３７－６９３ ２５６９－７８６ 

⑬ ⑭ ⑮ ２１９２－５２４ ２３４５－４１８ ２４６１－９３５ 

th    h     t     o th    h     t     o th   h     t     o 

th   h     t     o th   h     t     o th   h     t     o 

th    h     t     o th    h     t     o th    h     t     o 



Example   Solve. Cross out the number when it changes. 

T20_S10 

Do NOT 
forget!! 

① ② ③ 

④ ⑤ ⑥ 

１３６８－６５２ １２５７－７３６ １１８６－４２３ 

１８３２－９１４ １６３９－８５２ １３４１－５１５ 

１２６７－５１６ １２６７－５１６ 

－ － 

th   h     t     o th   h     t     o 

th   h     t     o th   h     t     o th   h     t     o 

th   h     t     o th   h     t     o th   h     t     o 

“o” means ● , “t” means × ,  “h” means ○, ‘’th’’ means □. 

Good! 

Exercise  Solve. Cross out the number when it changes. 



Exercise  Solve. Cross out the number when it changes. 

T20_S10 

⑦ ⑧ ⑨ 

⑩ ⑪ ⑫ 

⑬ ⑭ ⑮ 

１５４７－８９８ １２３４－７６５ １３２５－６４８ 

２３３６－７７１ ２１５４－４８２ ２２４３－６５０ 

２１５５－３６７ ２４３５－５７８ ２６１２－９５４ 

th   h     t     o th   h     t     o th   h     t     o 

th   h     t     o th   h     t     o th   h     t     o 

th   h     t     o th   h     t     o th   h     t     o 



３ ７ ４ ９ 
１ ３ ７ ５ － 
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３７４９－１３７５ 

Solve. 

３７４９－１３７５ 

Let’s calculate at the ‘’h’’ and ‘’th’’. 

９－５＝ ４ 

１４－７＝ ７  

３－１＝ ２ 

Calculate in order 

from the ‘’o’’.  

If we calculate from the 

lower place, we can 

bigger number. 

３ ７ ４ ９ 
１ ３ ７ ５ － 

６－３＝ ３ 

We can’t  subtract 

at the ‘’h’’, so 

borrow from the 

‘’h’’. 

th        h         t        o 

“o” means ● , “t” means × ,  “h” means ○, ‘’th’’ means □. 

th        h         t        o 

Good! 



Example   Solve. Cross out the number when it changes. 

Exercise  Solve. Cross out the number when it changes. 
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３７４９－１３７５ 

３ ７ ４ ９ 
１ ３ ７ ５ － 

３７４９－１３７５ 

３ ７ ４ ９ 
１ ３ ７ ５ － 

① 

８５６４
４５３２ － 

② 

５４６４ 
１８２２ － 

③ 

３ ６ ２ ５ 
２ １ ３ ４ － 

④ 

３ ８ ７ ２ 
１ ３ ６ ５ － 

⑤ 

５２５９ 
３２８５ － 

⑥ 

７ ６ ９３ 
２ ８ ４７ － 

Do NOT 
forget!! 

８５６４－４５３２ ５４６４－１８２２ ３６２５－２１３４ 

３８７２－１３６５ ５２５９－３２８５ ７６９３－２８４７ 

Good! 



Exercise    Solve. Cross out the number when it changes. 
T20_S11 

⑦ 

６７４７ 
１３７９ － 

⑧ 

８５００ 
５３７８ － 

⑨ 

９６０５ 
６８３７ － 

⑩ 

７２０４ 
４６２５ － 

⑪ 

７０５３ 
４１９５ － 

⑫ 

３０２４ 
１８７９ － 

⑬ 

５１４２ 
４１４８ － 

⑭ 

３５２７
１８３９ － 

⑮ 

４７６０ 
２８９４ － 

６７４７－１３７９ ８５００－５３７８ ９６０５－６８３７ 

７２０４－４６２５ ７０５３－４１９５ ３０２４－１８７９ 

５１４２－４１４８ ３５２７－１８３９ ４７６０－２８９４ 



Example     Solve. Cross out the number when it changes. 

T20_S11 

Exercise    Solve. Cross out the number when it changes. 

① ② ③ 

④ ⑤ ⑥ 

３７４９－１３７５ ３７４９－１３７５ 

－ － Do NOT 
forget!! 

６９７５－３６２１ ３２５７－１５３６ ８５３７－４２６１ 

４５８３－２４５７ ６７４８－２７６３ ５３７２－３５１６ 

th   h     t     o th   h     t     o 

th   h     t     o 

th   h     t     o th   h     t     o th   h     t     o 

th   h     t     o th   h     t     o 

“o” means ● , “t” means × ,  “h” means ○, ‘’th’’ means □. 

Good! 



Exercise   Solve. Cross out the number when it changes. 

T20_S11 

⑦ ⑧ ⑨ 

⑩ ⑪ ⑫ 

⑬ ⑭ ⑮ 

５８３６－１４６８ ７６００－４３２９ ８７０４－５９１６ 

８１０３－３７２６ ６０３２－３２５７ ４０３２－１７５６ 

３１５１－２１５４ ７３２５－４６３８ ５２３０－３３７７ 

th   h     t     o th   h     t     o th   h     t     o 

th   h     t     o th   h     t     o 

th   h     t     o th   h     t     o 

th   h     t     o 

th   h     t     o 



Example   Solve. Cross out the number when it changes. 

T20_S11 

Exercise  Solve. Cross out the number when it changes. 

① ② ③ 

④ ⑤ ⑥ 

３７４９－１３７５ ３７４９－１３７５ 

－ 

６３７５－３３４１ ４２５７－２６３５ ３７１８－２４５３ 

５４７３－２６３５ ７３４８－５３６２ ８２５３－４６１７ 

－ Do NOT 
forget!! 

th   h     t     o 

th   h     t     o th   h     t     o 

th   h     t     o 

th   h     t     o 

th   h     t     o 

th   h     t     o 

th   h     t     o 

“o” means ● , “t” means × ,  “h” means ○, ‘’th’’ means □. 

Good! 



Exercise  Solve. Cross out the number when it changes. 

T20_S11 

⑦ ⑧ ⑨ 

⑩ ⑪ ⑫ 

⑬ ⑭ ⑮ 

６８２５－１５７７ ６４００－３１５７ ７５０３－４６２８ 

５３０２－２５３７ ８０４１－５３６３ ４０２５－１５６７ 

３２８４－２２８６ ９２３１－６７４５ ４５２０－２６５３ 

th   h     t     o th   h     t     o 

th   h     t     o 

th   h     t     o 

th   h     t     o 

th   h     t     o 

th   h     t     o 

th   h     t     o th   h     t     o 



＝ 

T21_S01 

＝ 

Each of the three members has a bowl with 5 onions. 
How many onions are there altogether? There are three 

bowls altogether 
because each 
one has a bowl. 

Let’s find out how many onions do they have altogether. 

We can 
find out by 
addition. 

Good! 

15! 



☓ ＝ 

＝ 

＝ 

T21_S01 

Let’s write a number sentence of “multiplication” for 
the number of onions.  

We use “×” and “=“ for multiplication. 

The number of 
onions in a bowl. 

The number of bowls. The total number 
of onions. 

We write a number sentence of multiplication in the following order. 
(the number of groups) × (the number of things in a group)  
                                                                                       ＝(the total number of things) 
The number of onions in a group is 5 and the number of groups is 3, therefore 
the total number of onions is 15. 
 

“3×5” means there are 5 onions in 
each of the three groups. 

Good! 



☓ ☓ 

T21_S01 

① 

☓ 

② 

☓ 

③ 

☓ 

④ 

☓ 

Exercise  Fill in the           to make a number sentence of multiplication. 

Example  Fill in the           to make a number sentence of multiplication. 

Good! 



T21_S01 

⑤ 

☓ 

⑥ 

☓ 

⑦ 

☓ 

⑧ 

☓ 

Exercise  Fill in the           to make a number sentence of multiplication. 



☓ ＝ 

☓ ＝ 

☓ ＝ ５＋５＋５＋５ 

T21_S01 

☓ ＝ ☓ ＝ 

５ 

① 

５＋５＋５ ５＋５＋５ 

５＋５ 

② 

☓ ＝ 

５＋５＋５ 

③ 

④ 

Example  Fill in the           to find out the total number of onions. 

Exercise  Fill in the           to find out the total number of onions. 

Good! 



５＋５＋５＋５＋５＋５＋５＋５ 

５＋５＋５＋５＋５＋５＋５ 

５＋５＋５ ＋５＋５ ＋５＋５ ＋５＋５ 

５＋５＋５＋５＋５＋５ 

５＋５＋５＋５＋５ 

T21_S01 

⑤ 

⑥ 

⑦ 

⑧ 

⑨ 

☓ ＝ 

☓ ＝ 

☓ ＝ 

＝ ☓ 

Exercise  Fill in the           to find out the total number of onions. 



T21_S01    Let’s look at 5 times table. 

９×５＝４５ ８×５＝４０ ７×５＝３５ 

６×５＝３０ ５×５＝２５ ４×５＝２０ 

３×５＝１５ ２×５＝１０ １×５＝ ５ 

ｔ     o 

１×５＝    ５ 
２×５＝ １  ０ 
３×５＝ １  ５ 
４×５＝ ２  ０ 

Let’s look at 5 times table. 

The answer increases by 5. 

The “o” of 
the answers 
are 5, 0, 5, 0. 

“o” means ● , “t” means ×. 
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１☓５＝ 

２☓５＝ 

４×５＝ 

３×５＝ 

５☓５＝ 

９×５＝ 

７×５＝ 

８×５＝ 

６×５＝ 

Let’s memorize 5 times table. After writing 
your answer, read them to memorize. 

one times five is five 

two  times five is ten 

three  times five is fifteen 

four  times five is twenty 

five  times five is twenty five 

six  times five is thirty 

seven  times five is thirty five 

eight  times five is forty 

nine  times five is forty five 



T21_S02 

Let’s write a number sentence of “multiplication” for the 
number of tomatoes.  

＝ 

＝ 

There are three 
bowls altogether 
because each one 
has a bowl. 

Each of the three members has a bowl with 2 tomatoes. 
How many tomatoes are there altogether? 

We can find 
the answer by 
２＋２＋２. 

“３×２” means there are ２ tomatoes 
in each of the three groups. 

Good! 



☓ ＝ ☓ ＝ 

２＋２＋２＋２ 

T21_S02 

☓ ＝ ☓ ＝ 

２ 

① 

２＋２＋２ ２＋２＋２ 

２＋２ 

② 

２＋２＋２ 

③ 

④ 

☓ ＝ 

☓ ＝ 

☓ ＝ 

☓ ＝ 

Good! 

Example  Fill in the           to find out the total number of onions. Example  Fill in the           to find out the total number of onions. 

Exercise  Fill in the           to find out the total number of onions. 



２＋２＋２＋２＋２＋２＋２＋２ 

２＋２＋２＋２＋２＋２＋２ 

２＋２＋２ ＋２＋２ ＋２＋２ ＋２＋２ 

２＋２＋２＋２＋２＋２ 

２＋２＋２＋２＋２ 

T21_S02 

⑤ 

⑥ 

⑦ 

⑧ 

⑨ 

☓ ＝ 

☓ ＝ 

☓ ＝ 

☓ ＝ 

☓ ＝ 

Exercise  Fill in the           to find out the total number of onions. 



T21_S02 

Let’s look at 2 times table. 

９×２＝１８ ８×２＝１６ ７×２＝１４ 

６×２＝１２ ５×２＝１０ ４×２＝ ８ 

３×２＝ ６ ２×２＝ ４ １×２＝ ２ 

The answer 
increases by 2. 

Because the multiplier 
is 2. 



Let’s memorize ２ times table. After writing 
your answer, read them to memorize. 

T21_S02 

１☓２＝ 

２☓２＝ 

４×２＝ 

３×２＝ 

５☓２＝ 

９×２＝ 

７×２＝ 

８×２＝ 

６×２＝ 

one  times two is two 

two  times two is four 

three  times two is six 

four  times two is eight 

five  times two is ten 

six  times two is twelve 

seven  times two is fourteen 

eight  times two is sixteen 

nine  times two is eighteen 



T21_S03 

＝ ＝ 

＝ ＝ 

“４×３” means there are ３ eggs in each of the three groups. 

We can find 
the answer 
by 3＋3＋3. 

There are 4 bowls of three eggs. 

There are three 
eggs in a group. 

Let’s write a number sentence of “multiplication” 
to find the number of eggs altogether. 

Good! 



T21_S03 

１×３＝ 

２×３＝ 

３×３＝ 

４×３＝ 

１×３＝ 

２×３＝ 

３×３＝ 

４×３＝ 

Let’s find the total number of eggs from 1 to 4 
bowls which of them have three ones. 

Do you notice anything by 
comparing the answers? 

The total number of eggs increases 
by three when the number of 
bowls increases by one. 

Good! 



☓ ＝ ☓ ＝ 

３＋３＋３＋３ 
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☓ ＝ ☓ ＝ 

３ 

① 

☓ ＝ 

３＋３＋３＋３ ３＋３＋３＋３ 

３＋３ 

② 

☓ ＝ 

３＋３＋３ 

③ 

☓ ＝ 

④ 

☓ ＝ 

Good! 

Example  Fill in the           to find out the total number of onions. Example  Fill in the           to find out the total number of onions. 

Exercise  Fill in the           to find out the total number of onions. 



３＋３＋３＋３＋３＋３＋３＋３ 

３＋３＋３＋３＋３＋３＋３ 

３＋３＋３＋３＋３ ＋３＋３ ＋３＋３ 

３＋３＋３＋３＋３＋３ 

３＋３＋３＋３＋３ 

T21_S03 

⑤ 

☓ ＝ 

⑥ 

☓ ＝ 

⑦ 

☓ ＝ 

⑧ 

☓ ＝ 

⑨ 

☓ ＝ 

Exercise  Fill in the           to find out the total number of onions. 



T21_S03 

Let’s look at 3 times table. 

９×３＝２７ ８×３＝２４ ７×３＝２１ 

６×３＝１８ ５×３＝１５ ４×３＝１２ 

３×３＝ ９ ２×３＝ ６ １×３＝ ３ 

The answer 
increases by 2. 

Because the multiplier 
is 3. 



Let’s memorize ２ times table. After writing 
your answer, read them to memorize. 

T21_S03 

１×３＝ 

２×３＝ 

４×３＝ 

３×３＝ 

５×３＝ 

９×３＝ 

７×３＝ 

８×３＝ 

６×３＝ 

one  times two is two 

two  times three is four 

three  times three is six 

four  times three is eight 

five  times three is ten 

six  times three is twelve 

seven  times three is forty 

eight  times three is sixteen 

nine  times three is eighteen 



T21_S04 

There are 4 bowls of 4 packets of peanuts. 

There are 4 packets of 
peanuts in a group. 

Let’s write a number sentence of multiplication to 
find the number of peanuts altogether. 

「４×４」 means there are 4 groups 
of 4 packets of peanuts. 

Good! 



T21_S04 

The total number of packets of peanuts 
increases by four when the number of 
bowls increases by one. 

１×４＝ 

２×４＝ 

３×４＝ 

４×４＝ 

１×４＝ 

２×４＝ 

３×４＝ 

４×４＝ 

Let’s find the total number of packets of peanuts 
from 1 to 4 bowls which of them have three ones. 

Do you notice anything by 
comparing the answers? 

Good! 



☓ ＝ ☓ ＝ 

４＋４＋４＋４ 

T21_S04 

☓ ＝ ☓ ＝ 

４ 

① 

☓ ＝ 

４＋４＋４＋４ ４＋４＋４＋４ 

４＋４ 

② 

☓ ＝ 

４＋４＋４ 

③ 

☓ ＝ 

④ 

☓ ＝ 

Good! 

Example  Fill in the           to find out the total number of peanuts. Example  Fill in the           to find out the total number of 

Exercise  Fill in the           to find out the total number of peanuts. 



４＋４＋４＋４＋４＋４＋４＋４ 

４＋４＋４＋４＋４＋４＋４ 

４＋４＋４＋４＋４ ＋４＋４ ＋４＋４ 

４＋４＋４＋４＋４＋４ 

４＋４＋４＋４＋４ 

T21_S04 

⑤ 

☓ ＝ 

⑥ 

☓ ＝ 

⑦ 

☓ ＝ 

⑧ 

☓ ＝ 

⑨ 

☓ ＝ 

Exercise  Fill in the           to find out the total number of peanuts. 



T21_S04 

Let’s look at 4 times table. 

９×４＝３６ ８×４＝３２ ７×４＝２８ 

６×４＝２４ ５×４＝２０ ４×４＝１６ 

３×４＝１２ ２×４＝ ８ １×４＝ ４ 

The answer 
increases by 2. 

Because the multiplier 
is 4. 



Let’s memorize ２ times table. After writing your 
answer, read them to memorize. 

T21_S04 

１☓４＝ 

２☓４＝ 

４☓４＝ 

３☓４＝ 

５☓４＝ 

９☓４＝ 

７☓４＝ 

８☓４＝ 

６☓４＝ 

one  times four is four 

two  times four is eight 

three  times four is twelve 

four  times four is sixteen 

five  times four is twenty 

six  times four is twenty four 

seven  times four is twenty eight 

eight  times four is thirty two 

nine  times four is thirty six 



T21_S05 

２ 2 4 6 8 10 12 14 16 18 

３ 3 6 9 12 15 18 21 24 27 

４ 4 8 12 16 20 24 28 32 36 

５ 5 10 15 20 25 30 35 40 45 

１ ２ ３ ４ ５ ６ ７ ８ ９ 

２ 2 4 6 8 10 12 14 16 18 

３ 3 6 9 12 15 18 21 24 27 

４ 4 8 12 16 20 24 28 32 36 

５ 5 10 15 20 25 30 35 40 45 

← ３×６＝１８ 

Let’s look at the multiplication table of 2,3,4 and 5. 

This number stands for the number at 
the bottom of a multiplication. 

This number stands for 
the number at the top of 
a multiplication. 

This number stands 
for the answers of 
multiplications. 

This “18” stands for the answer for ３×６. 



２ 2 4 6 

３ 3 

４ 4 

５ 5 

T21_S05 

Let’s write the multiplication table of 2,3,4 and 5. 

This number stands for the number 
at the bottom of a multiplication. 

This number stands for 
the number at the top 
of a multiplication. 

This number stands 
for the answers of 
multiplications. 



T21_S05 

１ ２ ３ ４ ５ ６ ７ ８ ９ 

２ 2 4 6 8 10 12 14 16 18 

３ 3 6 9 12 15 18 21 24 27 

４ 4 8 12 16 20 24 28 32 36 

５ 5 10 15 20 25 30 35 40 45 

１ ２ ３ ４ ５ ６ ７ ８ ９ 

２ 2 4 6 8 10 12 14 16 18 

We realize many things from the multiplication table. 

There are two places which have “6” as 
the answer. ２×３＝６ and ３×２＝６. 

The answers of the “two times table” increase by 2 
when the number of the bottom increases by 1. 

increases by 1 

increases by 1 

increases by 1 increases by 1 increases by 1 

increases by 1 increases by 1 increases by 1 

increases by 2 
increases by 2 increases by 2 increases by 2 increases by 2 

increases by 2 increases by 2 increases by 2 



1) The answers of the “three times table” increase by              . 

T21_S05 

１ ２ ３ ４ ５ ６ ７ ８ ９ 

２ 2 4 6 8 10 12 14 16 18 

３ 3 6 9 12 15 18 21 24 27 

４ 4 8 12 16 20 24 28 32 36 

５ 5 10 15 20 25 30 35 40 45 

2) The answers of the “five times table” increase by              . 

4) There are            places which have 10 as the answer. 

5) There are            places which have 12 as the answer. 

Example  Write the answer in the           by checking the table of multiplication. 

Exercise  Write the answer in the           by checking the table of multiplication. 

The answers of the “three times table” increase by             . 

3) There are            places which have 8 as the answer. 

Good! 



T21_S05 

５×３＝ 

① ２×４＝ 

５×３＝ 

③ ４×３＝ 

⑤ ２×７＝ 

⑦ ５×２＝ 

⑪ ４×１＝ 

⑮ ５×８＝ 

② ３×２＝ 

④ ５×１＝ 

⑥ ３×１＝ 

⑧ ４×８＝ 

⑩ ２×６＝ 

⑫ ５×４＝ 

⑭ ２×１＝ 

⑯ ４×６＝ 

⑨ ３×９＝ 

⑬ ４×９＝ 

Example  Multiply. 

Exercise  Multiply. 

Good! 



T21_S05 

⑰ ２×３＝ 

㉑ ４×２＝ 

㉓ ２×８＝ 

㉕ ５×５＝ 

㉗ ３×８＝ 

㉙ ４×４＝ 

㉛ ３×６＝ 

㉝ ５×６＝ 

㉟ ２×９＝ 

⑱ ３×４＝ 

㉒ ５×９＝ 

㉔ ３×３＝ 

㉖ ４×５＝ 

㉘ ２×５＝ 

㉚ ５×７＝ 

㉜ ２×２＝ 

㉞ ３×７＝ 

㊱ ３×５＝ 

⑲ ４×７＝ ⑳ ５×３＝ 

Exercise  Multiply. 



T21_S05 

① 

③ 

① 

③ 

② 

④ 

② 

④ 

３×３ ３×２ ３×３ ３×２ 

４×５ ４×４ ２×５ ２×６ 

３×４ ３×５ ２×７ ２×６ 

３×５ ２×５ ５×３ ３×３ 

３×４ ２×８ ４×７ ５×６ 

Example  Tick in the         which is larger.  

Exercise  Tick in the         which is larger.  

Exercise  Tick in the         which is smaller.  

Good! 



１ ２ ３ ４ 

１ 

２ 

３ 

４ 

５ 

×５ ＝ ×３ ＝ 

１ ２ ３ ４ 

１ 

２ 

３ 

４ 

５ 

T21_S06 

１ ２ ３ ４ 

１ 

２ 

３ 

４ 

５ 

  ×５ ＝ ×３ ＝ 

１ ２ ３ ４ 

１ 

２ 

３ 

４ 

５ 

Find out the number of           by 
multiplication. 

We can find out the number of           
by multiply the number in the row 
and column. 

Good! 



T21_S06 

１ ２ ３ ４ 

１ 

２ 

３ 

４ 

５ 

６ 

１×６＝ ２×６＝ 

３×６＝ ４×６＝ 

１ ２ ３ ４ 

１ 

２ 

３ 

４ 

５ 

６ 

１ ２ ３ ４ 

１ 

２ 

３ 

４ 

５ 

６ 

１ ２ ３ ４ 

１ 

２ 

３ 

４ 

５ 

６ 

Let’s make a “six times table” by 
the table of           . 

The answer increases by 6 when the number in the 
bottom of the multiplication increases by one . 
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１ ２ ３ ４ ５ ６ ７ ８ ９ 

１ 

２ 

３ 

４ 

５ 

６ 

  table of  

６×６＝ 

７×６＝ 

８×６＝ 

９×６＝ 

１×６＝ 

２×６＝ 

３×６＝ 

４×６＝ 

５×６＝ 

１ ２ ３ ４ ５ ６ ７ ８ ９ 

１ 

２ 

３ 

４ 

５ 

６ 

The answer of ５×６ 

We can find the answer for  
「６×５」 by counting the 
number of           in a row. 

Let’s make a “six times table” by 
the table of           . 
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Let’s look at 6 times table. 

９×６＝５４ ８×６＝４８ ７×６＝４２ 

６×６＝３６ ５×６＝３０ ４×６＝２４ 

３×６＝１８ ２×６＝１２ １×６＝ ６ 

The answer 
increases by 6. Because the multiplier 

is 6. 



Let’s memorize ６ times table. After writing 
your answer, read them to memorize. 
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１×６＝ 

２×６＝ 

４×６＝ 

３×６＝ 

５×６＝ 

９×６＝ 

７×６＝ 

８×６＝ 

６×６＝ 

one  times six is six 

two  times six is twelve 

three  times six is eighteen 

four  times six is twenty four 

five  times six is thirty 

six  times six is thirty six 

seven  times six is forty  two 

eight  times six is forty eight 

nine  times six is fifty four 
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Let’s make a “seven times table” by the table of           . 

The answer increases by 7 when the number in the bottom of the 
multiplication increases by one . 

１ ２ ３ ４ 

１ 

２ 

３ 

４ 

５ 

６ 

７ 

１×７＝ ２×７＝ 

３×７＝ ４×７＝ 

１ ２ ３ ４ 

１ 

２ 

３ 

４ 

５ 

６ 

７ 

１ ２ ３ ４ 

１ 

２ 

３ 

４ 

５ 

６ 

７ 

１ ２ ３ ４ 

１ 

２ 

３ 

４ 

５ 

６ 

７ 
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Let’s make a “six times table” by the table of           . 

１ ２ ３ ４ ５ ６ ７ ８ ９ 

１ 

２ 

３ 

４ 

５ 

６ 

７ 

table of 

６×７＝ 

７×７＝ 

８×７＝ 

９×７＝ 

We can find the answer for  
「５×７」 by counting the 
number of           in a row. 

１ ２ ３ ４ ５ ６ ７ ８ ９ 

１ 

２ 

３ 

４ 

５ 

６ 

７ 

The answer of 
５×７ 

１×７＝ 

２×７＝ 

３×７＝ 

４×７＝ 

５×７＝ 
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Let’s look at 7 times table. 

９×７＝６３ ８×７＝５６ ７×７＝４９ 

６×７＝４２ ５×７＝３５ ４×７＝２８ 

３×７＝２１ ２×７＝１４ １×７＝ ７ 

The answer 
increases by 7. Because the multiplier 

is 7. 



Let’s memorize ７ times table. After writing 
your answer, read them to memorize. 
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１×７＝ 

２×７＝ 

４×７＝ 

３×７＝ 

５×７＝ 

９×７＝ 

７×７＝ 

８×７＝ 

６×７＝ 

one  times seven is seven 

two  times seven is fourteen 

three  times seven is twenty one 

four  times seven is twenty eight 

five  times seven is thirty five 

six  times seven is forty two 

seven  times seven is forty  nine 

eight  times seven is fifty six 

nine  times seven is sixty three 
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 ×   ＝ 

 ×   ＝ 

 ×   ＝ 

 ×   ＝ 

Let’s find the number of             by multiplication. 

There are 5 groups 
of 3         .  
So, it is ５×３. 

If you divide them 
into 3 groups of  
5         , it is ３×５. 

The answer of  
３×５ and ５×３

are both 15. 

As you see, the answers of  
３×５ and ５×３are the 
same which means that 
you will get the same 
answer even if you change 
the order of multiplication. 

Good! 
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１ ２ 

１ 

２ 

３ 

４ 

５ 

６ 

７ 

８ 

☓ 

☓     ＝      ☓ 

☓     ＝      ☓ 

Let’s find out the number of           . 

The number sentence is ２×８.  

We get the same answer even if we  
change the order of multiplication. 
Let’s find the answer of ２×８ using 
this rule. 

What is the number sentence we get 
if we change the order of ２×８. 

８×２ is in the “two times table”, 
so we know the answer.  

Good! 
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☓     ＝ 

☓     ＝ 

１ ２ 

１ 

２ 

３ 

４ 

５ 

６ 

７ 

８ 

☓     ＝      ☓ 

☓     ＝ 

☓     ＝ 

Let’s find the answer of multiplication. 

２×８is in the “two times table”.  
８×２and２×８ have the same answer. 

We can find the 
“eight times table” 
using the rule of 
multiplication. 

Good! 
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６×８＝    ×    ＝ 

７×８＝    ×    ＝ 

１×８＝ 

２×８＝    ×    ＝ 

３×８＝    ×    ＝ 

４×８＝    ×    ＝ 

５×８＝    ×    ＝ 

１ ２ ３ ４ ５ ６ ７ ８ ９ 

１ 

２ 

３ 

４ 

５ 

６ 

７ 

８ 

Let’s make the “eight times table” using the 
rule of multiplication. 

We get the same answer 
even if we change the 
order of multiplication.  
So, if you want to find the 
answer for ２×８, you 
should multiply８×２.  

１×８means a 
group of 8, so it 
is 8. 
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Let’ find the answer of ８×８&８×９ by the table of           . 

８×８＝ 

９×８＝ 

１ ２ ３ ４ ５ ６ ７ ８ ９ 

１ 

２ 

３ 

４ 

５ 

６ 

７ 

８ ６×８＝ 

７×８＝ 

１×８＝ 

２×８＝ 

３×８＝ 

４×８＝ 

５×８＝ 

The increment, “8”, is the 

same as the multiplicand 

(the number at the bottom). 

  table of 
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Let’s look at 8 times table. 

９×８＝７２ ８×８＝６４ ７×８＝５６ 

６×８＝４８ ５×８＝４０ ４×８＝３２ 

３×８＝２４ ２×８＝１６ １×８＝ ８ 

The answer 
increases by 8. 

The increment, “8”, is the 

same as the multiplicand 

(the number at the bottom). 



Let’s memorize ８ times table. After writing 
your answer, read them to memorize. 
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１×８＝ 

２×８＝ 

４×８＝ 

３×８＝ 

５×８＝ 

９×８＝ 

７×８＝ 

８×８＝ 

６×８＝ 

one  times eight is eight 

two  times eight is sixteen 

three  times eight is twenty four 

four  times eight is thirty two 

five  times eight is forty 

six  times eight is forty eight 

seven  times eight is fifty six 

eight  times eight is sixty four 

nine  times eight is seventy two 
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The number sentence is ２×９.  
１ ２ 

１ 

２ 

３ 

４ 

５ 

６ 

７ 

８ 

９ 

We get the same answer even if we  
change the order of multiplication. Let’s 
find the answer of ２×9 using this rule. 

☓ 

☓     ＝      ☓ 

What is the number sentence we 
get if we change the order of ２×９. 

☓     ＝      ☓ 

９×２ is in the “two times table”, 
so we know the answer.  

Good! 

Let’s find the number of             by multiplication. 
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Let’s find the answer of multiplication. 

２×９is in the “two times table”.  
９×２and２×９ have the same answer. 

☓     ＝ 

☓     ＝ 

☓     ＝      ☓ 

☓     ＝ 

☓     ＝ 

We can find the 
“nine times table” 
using the rule of 
multiplication. 

１ ２ 

１ 

２ 

３ 

４ 

５ 

６ 

７ 

８ 

９ 

Good! 
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Let’s make the “nine times table” using the rule of 
multiplication. 

６×９＝    ×    ＝ 

７×９＝    ×    ＝ 

１×９＝ 

２×９＝    ×    ＝ 

３×９＝    ×    ＝ 

４×９＝    ×    ＝ 

５×９＝    ×    ＝ 

１ ２ ３ ４ ５ ６ ７ ８ ９ 

１ 

２ 

３ 

４ 

５ 

６ 

７ 

８ 

９ 

We get the same answer 
even if we change the 
order of multiplication.  
So, if you want to find the 
answer for ８×２, you 
should multiply２×８.  

８×９＝    ×    ＝ 

１×９means a 
group of 8, so it 
is 8. 
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Let’ find the answer of ９×９ by the table of   . 

８×９＝ 

９×９＝ 

１ ２ ３ ４ ５ ６ ７ ８ ９ 

１ 

２ 

３ 

４ 

５ 

６ 

７ 

８ 

９ 
６×９＝ 

７×９＝ 

１×９＝ 

２×９＝ 

３×９＝ 

４×９＝ 

５×９＝ 

The increment, “9”, is the same as 

the multiplicand (the number at 

the bottom). 

  の表 
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Let’s look at 9 times table. 

９×９＝８１ ９×８＝７２ ９×７＝６３ 

９×６＝５４ ９×５＝４５ ９×４＝３６ 

９×３＝２７ ９×２＝１８ ９×１＝ ９ 

The answer 
increases by 8. 

The increment, “９”, is the 

same as the multiplicand (the 

number at the bottom). 



Let’s memorize 9 times table. After writing 
your answer, read them to memorize. 
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１×９＝ 

２×９＝ 

４×９＝ 

３×９＝ 

５×９＝ 

９×９＝ 

７×９＝ 

８×９＝ 

６×９＝ 

one  times nine is nine 

two  times nine is eighteen 

three  times nine is twenty seven 

four  times nine is thirty six 

five  times nine is forty five 

six  times nine is fifty four 

seven  times nine is sixty three 

eight  times nine is seventy two 

nine  times eight is eighty one 
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Let’ find the “one times table” by the table of   . 

８×１＝ 

９×１＝ 

１ ２ ３ ４ ５ ６ ７ ８ ９ 

１ 

２ 

３ 

４ 

５ 

６ 

７ 

８ 

９ 

６×１＝ 

７×１＝ 

１×１＝ 

２×１＝ 

３×１＝ 

４×１＝ 

５×１＝ 

  table of 
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８×１＝ 

９×１＝ 

１ ２ ３ ４ ５ ６ ７ ８ ９ 

１ 

２ 

３ 

４ 

５ 

６ 

７ 

８ 

９ 

６×１＝ 

７×１＝ 

１×１＝ 

２×１＝ 

３×１＝ 

４×１＝ 

５×１＝ 

  table of  

The increment, “１”, is the 

same as the multiplicand (the 

number at the bottom). 
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Let’s look at １ times table. 

１×９＝９ １×８＝８ １×７＝７ 

１×６＝６ １×５＝５ １×４＝４ 

１×３＝３ １×２＝２ １×１＝１ 

The answer 
increases by １. 

The increment, “１”, is the 

same as the multiplicand 

(the number at the bottom). 



Let’s memorize ８ times table. After writing 
your answer, read them to memorize. 
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１×１＝ 

２×１＝ 

４×１＝ 

３×１＝ 

５×１＝ 

９×１＝ 

７×１＝ 

８×１＝ 

６×１＝ 

one  times one is one 

two  times one is two 

three  times one is three 

four  times one is four 

five  times one is five 

six  times one is six 

seven  times one is seven 

eight  times one is eight 

nine  times one is nine 
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Let’s write the multiplication table of 6,7,8,9 and 1. 

１ ２ ３ ４ ５ ６ ７ ８ ９ 

１ 

２ 2 4 6 8 10 12 14 16 18 

３ 3 6 9 12 15 18 21 24 27 

４ 4 8 12 16 20 24 28 32 36 

５ 5 10 15 20 25 30 35 40 45 

６ 

７ 

８ 

９ 

When the multiplier increased by one, then answer 

increased by the same number of the multiplicand 

in multiplication. 
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１ ２ ３ ４ ５ ６ ７ ８ ９ 

６ 6 12 18 24 30 36 42 48 54 

７ 7 14 21 28 35 42 49 56 63 

８ 8 16 24 32 40 48 56 64 72 

９ 9 18 27 36 45 54 63 72 81 

Good! 

Example  Write the answer in the           by checking the table of multiplication. 

The answers of the “six times table” increases by             . 

Exercise  Write the answer in the           by checking the table of multiplication. 

1) The answers of the “seven times table” increase by              . 

2) The answers of the “nine times table” increase by              . 

4) There are            places which have 42 as the answer. 

5) There are            places which have 18 as the answer. 

3) There are            places which have 24 as the answer. 
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＝ 

＝ 

＝ 

＝ 

＝ 

Example  Find the total number of things by writing a number sentence 
                      of multiplication  

Exercise  Find the total number of things by writing a number sentence 
                      of multiplication  

The total number of        onions.  

The total number of        onions.  Good! 

1) The total number of        eggs.  

2) The total number of        bottles.  

1) The total number of        cups.  
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＝ 

＝ 

＝ 

＝ 

Exercise  Find the total number of things by writing a number sentence 
                      of multiplication.  

4) The total number of                 fishes.  

5) The total number of          bananas.  

6) The total number of              birds.  

7) The total number of              tins.  
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＝ 

＝ 

＝ 

＝ 

Exercise  Find the total number of things by writing a number sentence 
                      of multiplication.  

8) The total number of           onions.  

9) The total number of       peanuts.  

10) The total number of        tomatoes.  

11) The total number of     eggs.  
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６×３＝ 

① ６×４＝ 

６×３＝ 

③ ８×３＝ 

⑤ ６×７＝ 

⑦ ９×２＝ 

⑪ ８×１＝ 

② ７×２＝ 

④ ９×１＝ 

⑧ ８×８＝ 

⑩ ６×６＝ 

⑫ ９×４＝ 

⑭ ６×１＝ 

⑯ ８×６＝ 

⑨ ７×９＝ 

⑬ ８×９＝ 

⑮ ９×８＝ 

⑥ ７×１＝ 

Example  Multiply. 

Exercise  Multiply. 

Good! 
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⑰ １×３＝ 

㉓ １×８＝ 

㉗ ７×８＝ 

㉙ ８×４＝ 

㉛ ７×６＝ 

㉝ ９×６＝ 

㉟ ６×９＝ 

㉔ ４×３＝ 

㉖ １×５＝ 

㉘ ６×５＝ 

㉚ ９×７＝ 

㉜ ６×２＝ 

㊱ ７×５＝ 

⑲ ３×７＝ ⑳ ４×３＝ 

㉕ ２×５＝ 

⑱ ２×４＝ 

㉒ ３×９＝ 

㉞ ７×７＝ 

㉑ ５×２＝ 

Exercise  Multiply. 
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㊲ ６×２＝ 

㊶ １×２＝ 

㊸ ２×８＝ 

㊺ １×９＝ 

㊼ ８×７＝ 

㊾ ８×２＝ 

   ６×８＝ 

㊳ ７×４＝ 

㊷ ９×９＝ 

㊹ ５×３＝ 

㊻ ８×５＝ 

㊿ ９×５＝ 

   ６×３＝ 

   ４×７＝ 

   ７×３＝ 

㊵ ３×３＝ 

52 

54 

56 

51 

53 

55 

   １×６＝ 

   ９×３＝ 

㊽ ６×５＝ 

㊴ １×７＝ 

Exercise  Multiply. 
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① 

③ 

① 

③ 

② 

④ 

② 

④ 

６×３ ６×２ ６×３ ６×２ 

６×５ ６×４ ７×２ ７×３ 

８×５ ８×６ ９×７ ９×６ 

６×５ ４×５ ８×３ ９×３ 

７×４ ６×８ ８×７ ９×５ 

Example  Tick in the         which is larger.  

Exercise  Tick in the         which is larger.  

Good! 

Exercise  Tick in the         which is smaller.  
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１ 1 2 3 4 5 6 7 8 9 

２ 2 4 6 8 10 12 14 16 18 

３ 3 6 9 12 15 18 21 24 27 

４ 4 8 12 16 20 24 28 32 36 

５ 5 10 15 20 25 30 35 40 45 

６ 6 12 18 24 30 36 42 48 54 

７ 7 14 21 28 35 42 49 56 63 

８ 8 16 24 32 40 48 56 64 72 

９ 9 18 27 36 45 54 63 72 81 

Let’s read the multiplication table aloud to 
memorize all of them from 1×1 to 9×9. 

We read 1×1 as one times one.  
You can read it with your friends. 
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２ 2 4 6 8 10 12 14 16 18 

３ 3 6 9 12 15 18 21 24 27 

The multiplicand of 4×3 is one more than that of 3×3. 
The answer of 4×3 is 3 more than the answer of 3×3. 
The multiplicand of 2×6 is one more than that of 3×6. 
The answer of 2×6 is 3 more than the answer of 3×6. 
 

Let’s find out the rule of multiplication. 

In multiplication, the answer increases the same as 
the number at the bottom of the number sentence. 

increase by 1 
This means if the 
number at the 
bottom increases 
by 1, the answer 
increases by 2 in 
the two times 
table. 

Write the answer in the          by using this rule.   

The answer of 4×3 is              more than the answer of 3×3.  

The answer of 2×6 is              less than the answer of 3×6.  

Good! 

increase by 2 

increase by 3 

The answer of 4×3 is              more than the answer of 3×3.  

The answer of 2×6 is              less than the answer of 3×6.  



1) The answer of 5×7 is               more than the answer of 4×7.  

2) The answer of 2×9 is               less than the answer of 3×9.  

3) The answer of 4×4 is               less than the answer of 5×4.  

4) The answer of 6×3 is               less than the answer of 7×3.  

5) The answer of 9×2 is               more than the answer of 8×2.  

6) The answer of 4×6 is               more than the answer of 3×6.  

7) The answer of 6×8 is               more than the answer of 5×8.  

8) The answer of 5×5 is               less than the answer of 6×5.  

9) The answer of 3×7 is               less than the answer of 4×7.  

T21_S12 

Example  Write the answer in the          . 

Exercise  Write the answer in the          . 

Good! 

The answer of 4×3 is              more than the answer of 3×3.  

The answer of 4×3 is              more than the answer of 3×3.  
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１ 1 2 3 4 5 6 7 8 9 

２ 2 4 6 8 10 12 14 16 18 

３ 3 6 9 12 15 18 21 24 27 

４ 4 8 12 16 20 24 28 32 36 

５ 5 10 15 20 25 30 35 40 45 

６ 6 12 18 24 30 36 42 48 54 

７ 7 14 21 28 35 42 49 56 63 

８ 8 16 24 32 40 48 56 64 72 

９ 9 18 27 36 45 54 63 72 81 

１ 1 2 3 4 5 6 7 8 9 

２ 2 4 6 8 10 12 14 16 18 

３ 3 6 9 12 15 18 21 24 27 

４ 4 8 12 16 20 24 28 32 36 

５ 5 10 15 20 25 30 35 40 45 

６ 6 12 18 24 30 36 42 48 54 

７ 7 14 21 28 35 42 49 56 63 

８ 8 16 24 32 40 48 56 64 72 

９ 9 18 27 36 45 54 63 72 81 

Let’s find out another rule of 
multiplication. 

In multiplication, you will get the same answer 
even if you change the order of multiplication. 

The answers 
corresponding to 
diagonal position 
are the same. 

1×2 and 2×1, 
2×3 and 3×2, 
4×7 and 7×4, 
there are many pairs 
of answers which have 
the same answer. 

Write the answer in the          by using this rule.   

The answer of 4×3 is the same as the answer of 3×            .   

We can get the same answer by changing 
the order of the multiplication.  

Good! 

The answer of 4×3 is the same as the answer of 3×            .   



① The answer of 2×7 is the same as the answer of 7×              .   

② The answer of 5×4 is the same as the answer of 4×              .   

③ The answer of 6×2 is the same as the answer of               ×6.   

④ The answer of 8×5 is the same as the answer of               ×8.   

⑤ The answer of 7×3 is the same as the answer of 3×              .   

⑥ The answer of 4×8 is the same as the answer of 8×              .   

⑦ The answer of 3×5 is the same as the answer of 5×              .   

⑧ The answer of 8×7 is the same as the answer of               ×3.   

⑨ The answer of 9×4 is the same as the answer of               × 9.   

T21_S12 

The answer of 4×3 is the same as the answer of 3×            .   

Good! 

The answer of 4×3 is the same as the answer of 3×            .   

Example  Write the answer in the          . 

Exercise  Write the answer in the          . 



①The multiplication which becomes 15 are                                       and                                       . 

②The multiplication which becomes 27 are                                       and                                       . 

③The multiplication which becomes 32 are                                       and                                       . 

④The multiplication which becomes 42 are                                       and                                       . 

⑤The multiplication which becomes 54 are                                       and                                       . 

⑥The multiplication which becomes 12 are                                       and                                        

⑦ The multiplication which becomes 24 are                                       and                                       . 
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Good! 

The multiplication which becomes 14 are                                        and                                       . 

Exercise  Write the answer in the          . 

and                                       . 

and                                       . 
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２ 2 4 6 8 10 12 14 16 18 

３ 3 6 9 12 15 18 21 24 27 

５ 5 10 15 20 25 30 35 40 45 

２ 2 4 6 

３ 3 6 9 

５ 5 10 15 

２ 

３ 

３ 

２×３＝ 

３×３＝ 

Let’s compare the “two times table”, “three times table” 
and “five times table”. 

If we look at the multiplication table in a column, 
the sum of the two times table and the three times 
table are the same as the five times table.   

Let’s find out using the table of          . 
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２ 2 4 6 

３ 3 6 9 

５ 5 10 15 

２ 

３ 

３ 

２×３＝ 

３×３＝ 

２ 2 4 6 

３ 3 6 9 

５ 5 10 15 

２ 

３ 

３ 

２×３＝ 

３×３＝ 

６＋９＝ 

６＋９＝ 

＋ 

↓ 

What is the sum of 2×3 and 3×3. 

When we add the answers of  2×3 and 3×3,  
we get 15. This is the same as the answer of 5×3. 

Good! 

Good! 
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２ 2 4 6 

３ 3 6 9 

５ 5 10 15 

２ 

３ 

３ 

２×３＝ 

３×３＝ 

＋ 

↓ 

２ 2 4 6 8 10 12 14 16 18 

３ 3 6 9 12 15 18 21 24 27 

５ 5 10 15 20 25 30 35 40 45 

５  ×３＝１５ 

＋ ＋ 

↓ 

Let’s look at 2×3, 3×3 and 5×3. 

The sum of the top of 2×3 and 3×3 is the 
same as number at the top of 5×3. 

Let’s check if 
the answers of 
the sum of the 
two answers of 
multiplication 
by 2×4, 3×4 
and 5×4. 

The sum of 2 times table and 3 times table are 
the                 times table.  



The sum of 2 times table and 4 times table are 
 

 the              times table.  

The sum of 1 times table and 7 times table are 
 

 the              times table.  

The sum of 4 times table and 5 times table are 
 

 the              times table.  

The sum of 2 times table and 5 times table are 
 

 the              times table.  
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Exercise   Write the correct answer in the          . 

The sum of 2 times table and 3 times table are 
 

 the              times table.  

Good! 

The sum of 2 times table and 3 times table are 
 

 the              times table.  

1) 

2) 

3) 

4) 


